'I_DFHZ;ILJE

~ AUTOGSMART

THE SMART CHOICE

FOR FIXING COMPONENTS & ASSEMBLY
EQUIPMENT

PRODUCT GUIDE

www.autosmartaustralia.com.au

The professionals’ choice
forvehicle cleaning products



Contact Us

Our AutoSmart franchisee contact details.

MEWIACT

Albury

Hame: Geoll Romero
Phone Mo.: 0417452835
S eatiesssseesisssesssssesascies
Sydnay Southern Suburbs
Hame: Dolph Stoker
Phona MWo.: 0418668430
Canberra

Nama: Michaal Maguire
Phons No_: 0407008630

—-.-.——|’—|I-——---- e e e~ — =

Central West NEW
Hame: Gary Bannait
Phone Moo 0427681861
H.:.rth 'ﬁj-ﬂ ﬂﬁﬁ {Eunnndah}
Mame: Dominic Massay
Phana Mo : 0427 424 211
Mid hlnrth Ena;t . =
Mame: Mait Buckley
Phone Ma_: 0437 810 053
Hawcaatla

Hamea: qud_nn Rlchards
Phone Mo . D416200880
Horth Sydnay

Hame: Wojtek Szoczyplor
Phone Mo.; 0411580276
South Sydnay

Hama: Mitchall Broaoks
Phona Mo.: 0425251835

- L omm——

Parrematta
Hamea: Wojtek Szczyplor
Phone Wo-: 04115860278

Wallangong
Hame : Caine Parbury
Phone Mo.: 04777768427

SA

South Ausiralia

Hame: Mailthew Corbitt
Phone Mo.: 0417750005

MIC

'Eunlrai Wictoria

H@_ma Brian Hurst

Phane Mo,: 0400571002
Malbourne Eastarn Wallay
Mame! Luke Ablilt

Flhnru Mo Diﬂﬂuﬂiﬁ_

BII:I'II.IW
Mama: Breandan Poulton
F'hn-nﬁ Mo.: 0477 772 DEA
arih Melbourne

,ﬂ‘l'l.- I]nr.lg Wilzsan

:FH.I'Hl'i. Hin- 0411600884

Huilm'itul Soath

Mame: Faur & Gayle Bright
Phone Mo.: 0417600888
Malbourne East

Mama; Gralg Steawart
Fhons Mo.: 0425 619 600

B e s o i e ' e B i ey

Melbourne Wesi

:Hnm- Crailg Stawart
Phans No.: 0425 €19 600

i........q.-.................-.......-........

Moorabhbin

‘Mame: Grant Pegler

Phone Mo.: O4EB081854

WA
Parth Maire East

Mame: Peter & Cheryl Wells

F'Mrna Mao.: O418906 756

F"lrl:h Mairo Morth
Mame; Mathan SGarman
Fhene No.: 0408371188

St

QLD :
Morth GLD - Townsville
Mame! Mick Fardham

Phone No,: 04128213440
-------------------------- -—u-l'm“.
Southport = Gold Coast
Mame: Mike Hughes

Phone Moz 0411241808

o e

Hnrlh Erl_ﬂlﬁq

Nama: Hﬂ*”hdlj
Phaone No.: ﬂ!ﬂTIIFl}ﬂJ :
Eunuhlm} Coasl

Mame: Alan Thompeon
Phone Mo,: 0414380864
Zouth Brisbane

Mame: Jamle Wadey
Phone No.: D400089882
anwnnm_ha (5. W. QLD)
Name: Damian Cnail
Phone No . f D407938138

TAS
Tasmania

"Name:! Les Crocker
CPhone Moz D429 771 OF8

—

Perth Malro 8 outh
Mame; Mathan Garman
Phaona Mo,: 04083711868

WA Bouwih Wesi & Greal Southern

Mame: Grant Ruland
FPhone Mo.: 0408952833

NT

Martharn Tarritory
Mame; Chace Karpanka
Phone Mo.: D4104587686




Cable Ties

V - CTIOO

V - CT150

V - CT200

V - CT300

V -CT370

V - CT370HD

V - CTLONG

V - CTCLIPRNDUNI

CABLE TIE - UV RESISTANT 100MM X X 2.5MM

CABLE TIE - UV RESISTANT 150MM X X 3.6MM

CABLE TIE - UV RESISTANT 200MM X X 4.6MM

CABLE TIE - UV RESISTANT 300MM X X 4.8MM

CABLE TIE - UV RESISTANT 385MM X X 4.8MM

CABLE TIE - UV RESISTANT 370MM X X 7.6MM

CABLE TIE - NYLON EXTRA LONG UV
RESISTANT 812MM X X 9MM

CABLE TIE - ROUND UNIVERSAL

100PK

100PK

100PK

100PK

100PK

100PK

100PK

100PK




PART NUMBER

V - KIT RACK
V -1000

V -1001 IMP
V -1001

V -1001SS
V -1001A

V -1002

V -1003

V -1003 TOYOTA
V -1003 EURO

V -1004

V -1004 WS
V -1005

V -1006

V -1007

V -1008SS
V -1009SS
V -1010

V -101

vV -1011P

V -1011SS
V -1013

V -1013L

V - 1014

V -1014SS
vV -1015

V - 1015BTN
V - 1015SS
V - 1015 CSK
V - 1016

V -1018

V -1019
4

SMART KIT DESCRIPTIONS

5 TIER KIT RACK

SS LOCK WASHER KIT

FLAT & SPRING IMPERIAL WASHER KIT
WASHER KIT FLAT, PENNY AND SPRING
STAINLESS STEEL WASHER KIT

HEAVY DUTY WASHER KIT

XMAS TREE TRIM CLIP

SCRIVET AND PUSH RETAINER
TOYOTA SPECIFIC TRIM KIT

EURO SPECIFIC TRIM KIT

TRIM CLIPS PLASTIC KIT
WINDSCREEN TRIM CLIPS

UNC BOLT / NUT KIT

UNF BOLT / NUT KIT

METRIC M4 M5 M6

METRIC BOLT / NUT KIT

STAINLESS STEEL SELF TAPPER KIT
LINCH & SHAFT LOCK PIN

POP RIVET KIT

PLASTIC RIVET KIT

STAINLESS STEEL RIVET KIT

SPLIT PIN KIT

SPLIT PIN LARGE KIT

NYLOC NUT KIT

STAINLESS TEEL NYLOCK NUT KIT
METAL THREAD KIT

METRIC HEX DRIVE BUTTON HEAD KIT
STAINLESS STEEL METAL THREAD KIT
COUNTERSUNK METAL THREAD KIT
SPEED NUT KIT

ELECTRICAL TERMINAL KIT

SEM ASSEMBLY KIT

PAGE NUMBER

O VO VO V 0 O 0 0

0000 00 F FFFOODOCOONDNON====00 0 o



PART NUMBER

V -1020
V -1020 SD
V -1021

V -1022

V -1023

V -1024
V -1025

V -1026

V -1030

V -1032

vV -1033

V -1035

V -1036

V -1036 SS
V -1037

V -1038

V -1039

V - 1039F
V -1039MC
V -1040
V - 1041

V -1042
V -1043

V - 1044
V -1048

V -1048 A
V -1048 F
V -1049
V - 1051

V -1053

V -1056

SMART KIT DESCRIPTIONS

SELF TAPPER KIT

SELF DRILL SCREW KIT

METRIC NUT ASSORTMENT KIT

SUMP PLUG KIT

SOCKET HEAD KIT

SOCKET HD CAP SCREW METRIC 12.9
MANIFOLD STUD KIT

VACCUM END CAP KIT-M3-MI0
COPPER WASHER KIT

R CLIP KIT

NUMBER PLATE SELF TAP & BOLT KIT
METRIC “O” RING KIT

NUTSERT KIT-M4-M6

NUTSERT STAINLESS STEEL KIT-M4-M6
BLANKING AND WIRING GROMMET KIT
AIR QUICK FIT KIT

FLANGE HEAD BOLT / NUT KIT

FINE THREAD METRIC NUT/BOLT KIT
FLANGE HEAD BOLT & NUT KIT MOTOR CYCLE
GREASE NIPPLE KIT

DOWTY WASHER KIT

AIR CONDITION “O” RING KIT

GRUB SCREW IMP & METRIC KIT

PIPE RETAINING CLAMP ASSORTMENT
METRIC COURSE BOLT / NUT KIT

HT BOLT KIT-MI2-M16

METRIC FINE BOLT / NUT KIT

SPACER KIT

CLEVIS PIN KIT

SPN EXTERNAL LOCK RING

CIRCLIP KIT-M6-M25 INT/EXT-14S

PAGE NUMBER

15
16
16
16
16
17
17
17
17
18
18
18
18
19
19
19
19
20
20
20
20
2]
21
2]
21
22
22
22
22
23
23



PART NUMBER

V -1057
V - 1061
V -1063
V -1064
V -1070
V -1071
vV -1073
V -1074
V -1079
V -1082
V -1084 A
V -2000
V - 2001
V -2002
V -2003
V - 2004
V - 2005
V - 2006

SMART KIT DESCRIPTIONS

CIRCLIP KIT

MS METRIC ROLLPIN KIT

MULTIFIT ALINGMENT SHIM KIT

CABLE LUG ASSORTMENT

FUSE KIT - STANDARD AND MINI BLADE
SHIM WASHER KIT

HEAT SHRINK KIT-RED/BLACK/+

WAVE WASHER KIT

STAINLESS STEEL STEPLESS EAR CLAMP KIT
BRASS HOSE JOINER FITTINGS KIT
VACUUM HOSE JOINER KIT

GO KART KIT

RED FIBRE WASHER KIT

SUMP PLUG KIT

TOYOTA FLARE MOULD CLIP KIT

METRIC HEX BOLT/NUT KIT

STAINLESS STEEL BUTTON HEAD SOCKET CAP SCREW
HEX HEAD SET/HEX SCREW KIT

PAGE NUMBER

23
23
24
24
24
24
25
25
25
25
26
26
26
26
27
27
27
27



E T MLESS ARRDETHER
FART fén 1 AR
1 LT e o B
PR E e
1ER I e
§ i e i




V -1000 SS LOCK WASHER KIT
STAINLESS STEEL M4 - M20
REFILL PACKS: PG 30

V-1001 IMPERIAL WASHER KIT
STEEL SIZES M4 -M12
REFILL PACKS: PG 31

V - 1001 FLAT & SPRING WASHER KIT
STEEL

REFILL PACKS: PG 32

WASHER KT
STAINLESS STEEL  SIZES M6 -MIO
REFILL PACKS: PG 33




V-1001 HD HEAVY DUTY FLAT WASHER KIT
ZINC PLATED SIZES 5/8 TO 21/2
REFILL PACKS: PG 34

V-1002 XMAS TREE TRIM KIT
PLASTIC BARBED
REFILL PACKS: PG 35

SHRRE
DHGRE

V-1003 SCRIVET & PUSH RETAINER KIT
PLASTIC EXPANDING CLIPS FOR COMMON BRAND VEHICLE
REFILL PACKS: PG 36

V-1003 TOYOTA - TOYOTA SPECIFIC TRIM KIT
PLASTIC  SIZED FOR TOYOTA VEHICLE
REFILL PACKS: PG 37




V-1003 EURO - EURO SPECIFIC TRIM KIT V-1004 TRIM CLIP PLASTICS KIT

STEEL & PLASTIC PLASTIC ASSORTED SIZES
REFILL PACKS: PG 38 REFILL PACKS: PG 39

V-1004 WS WINDSCREEN TRIM KIT V-1005 UNC BOLT/NUT KIT
PLASTIC ASSORTED SIZES TO SUIT MOST COMMON BRAND VEHICLE ZINC PLATED HIGH TENSILE SIZES 1/4X3/4 - 3/8X2
REFILL PACKS: PG 40 REFILL PACKS: PG 41

10



lI \{ '-.ft_'

V-1006 UNF BOLT/NUT KIT
ZINC PLATED HIGH TENSILE SIZES 1/4X3/4 - 3/8X2
REFILL PACKS: PG 42

V-1007 METRIC M4 M5 M6
STEEL HIGH TENSILE SIZES M4 -M6
REFILL PACKS: PG 43

V-1008 SS METRIC BOLT/NUT KIT
STAINLESS STEEL HIGH TENSILE SIZES M6 -MIO
REFILL PACKS: PG 44

V-1009 STAINLESS STEEL SELF TAPPER KIT
STAINLESS STEEL HIGH TENSILE SIZES 5/8 TO 21/2
REFILL PACKS: PG 45

11



I= =--||---_- \;!qwrﬂw
e e bl

V-1009 STAINLESS STEEL SELF TAPPER KIT
STAINLESS STEEL HIGH TENSILE SIZES 5/8 TO 21/2
REFILL PACKS: PG 46

V-1011 POP RIVET KIT
STEEL & ALUMINIUM  SIZES 4-3 8-6
REFILL PACKS: PG 47

V-101IP PLASTICS RIVETS KIT
PLASTIC
REFILL PACKS: PG 48

V-1011SS STAINLESS STEEL POP RIVET KIT
STAINLESS STEEL SIZES 4-2 - 6-10
REFILL PACKS: PG 49

12



V- 1013L SPLILT PIN KIT LARGE
STEEL SIZES M6 - MIO
REFILL PACKS: PG 50

V-1013 SPLIT PIN KIT
STEEL SIZES 22MM-50MM

REFILL PACKS: PG 51

V-1014 NYLOC NUT KIT
STEEL ~ SIZES M4 -M12
REFILL PACKS: PG 52

V-1014 NYLOC NUT KIT
STAINLESS STEEL  SIZES M3-MI12
REFILL PACKS: PG 53

13



V-1015 METAL THREAD KIT
ZINC PLATED  SIZES M4 -M6
REFILL PACKS: PG 54

V-1015 SS STAINLESS STEEL THREAD KIT
STAINLESS STEEL
REFILL PACKS: PG 55

V-1015CSK COUNTERSUNK KIT
ZINC PLATED
REFILL PACKS: PG 56

V-1015 METRIC HEX DRIVE BUTTON HEAD SOCKET SCREW KIT
ZINC PLATED SIZES M5 -MI10
REFILL PACKS: PG 56

14




V-1016 SPEED NUT KIT
ZINC PLATED
REFILL PACKS: PG 57

V-1018 ELECTRICAL TERMINAL
ZINC PLATED
REFILL PACKS: PG 58

V-1019 SEM ASSEMBLY KIT
STEEL  SIZES M5 -MIO
REFILL PACKS: PG 59

V-1020 SELF TAPPER KIT
ZINC PLATED  SIZES 6G - 10G
REFILL PACKS: PG 60

15



V-1020 SD SELF DRILL KIT
STAINLESS STEEL  SIZES 8G - 12G
REFILL PACKS: PG 61

V-1021 METRIC NUT ASSORTMENT KIT
ZINC PLATED  SIZES M4 -MI0
REFILL PACKS: PG 62

V-1022 SUMP PLUG KIT
ALUMINIUM & FIBER
REFILL PACKS: PG 63

V-1023 SOCKET HD CAP SCEW
STAINLESS STEEL ~ SIZES M6 - MIO
REFILL PACKS: PG 64

16




V-1024 SOCKET HD CAP SCEW METRIC 12.9 KIT
STAINLESS STEEL  SIZES M6 - MIO
REFILL PACKS: PG 65

V-1025 MANIFOLD STUD KIT
ZINC PLATED / COPPER / BRASS
REFILL PACKS: PG 66

V-1026 VACCUM END CAP KIT-M3-M10
PLASTIC SIZES M3 - MIO PG 64
REFILL PG 67

V-1030 COPPER WASHER KIT
COPPER  SIZES M6 -M26
REFILL PACKS: PG 68

17



V-1032 R CLIP SET
STEEL
REFILL PACKS: PG 69

V-1033 NUMBER PLATE SELF TAP & BOLT KIT
STEEL
REFILL PACKS PG 70

V-1035 METRIC “O” RING KIT
RUBBER  SIZES 5MM - 30MM
REFILL PACKS: PG 71

V-1036 NUTSERT KIT-M4-M12
STEEL & ALUMINIUM
REFILL PACKS: PG 72

18



V-1036 NUTSERT KIT-M4-M12
STAINLESS STEEL
REFILL PACKS: PG 73

V-1037 BLANKING & WIRING GROMMET KIT
RUBBER  SIZES M6 -MIO

REFILL PACKS: PG 74

V-1038 AIR QUICK FIT
PLASTIC SIZES M4 - M16
REFILL PACKS: PG 75

V-1039 FLANGE HEAD BOLT/NUT KIT
(GOLD PASSIVATE  SIZES M6 - MIO

REFILL PACKS: PG 76

19



) .'_ .Iﬂ. *“I - Eom ._ i ': ! i 5
walllT 1) Al R
N T ERE T (e

V-1039F FINE THREAD FLANGE HEAD BOLT/

NUT KIT
REFILL PACKS: PG 77

V-1039MC FLANGE HEAD BOLT/NUT KIT
(GOLD PASSIVATE
REFILL PACKS: PG 78

V-1040 GREASE NIPPLE KIT
ZINC PLATED
REFILL PACKS: PG 79

V-1041 DOWTY WASHER KIT
STEEL & RUBBER SIZES 1/4 BSP - M30
REFILL PACKS: PG 80

20




V-1042 AIR CONDITION “O™ RING KIT
RUBBER
REFILL PACKS: PG 81

V-1043 GRUB SCREW KIT
ALLOY STEEL
REFILL PACKS: PG 82

V-1044 PIPE RETAINING CLAMP ASORT KIT
RUBBER / STEEL
REFILL PACKS: PG 83

V-1048 METRIC COURSE BOLT/NUT KIT
STAINLESS STEEL ~ SIZES 5/8 TO 21/2
REFILL PACKS: PG 84

21



V-1048 A HT BOLT KIT
GOLD PASSIVATE & STEEL SIZES M12 - M16
REFILL PACKS: PG 85

V-1048F METRIC FINE BOLT/ NYLOC NU KIT
SIZES M12 / M14 / M16
REFILL PACKS: PG 86

V-1049 SPACER KIT
STEEL SIZES M6- MI2
REFILL PACKS: PG 87

V-1051 CLEVIS PIN KIT
STEEL
REFILL PG 88

22




V-1053 SPN EXTERNAL LOCK RING KIT
SIZES
REFILL PG 89

V-1056 CIRCLIP KIT
SIZES
REFILL PG 90

V-1057E CIRCLIP KIT
SIZES
REFILL PG 91

V-106IMS METRIC ROLLPIN
SIZES
REFILL PG 92

25




V-1063 MULTIFIT ALIGNMENT SHIM KIT
STEEL SIZES
REFILL PG 93

-1064 CABLE LUG ASSORTMENT

REFILL PG 94

V-1070 FUSE KIT STANDARD AND MINI BLADE
ALUMINIUM & PLASTIC  SIZES
REFILL PACKS: PG 95

V-1071 SHIM WASHER KIT
STEEL  SIZES 3/4 TO 1.9/64
REFILL PG 96

24




V-1073 HEAT SHRINK TUBE KIT
POLYOLEFIN  SIZES 3.5MM - 20MM
REFILL PG 97

e T
e

2. V-1074/ CAI845

V-1074/CA1845 WAVE WASHER KIT
STAINLESS STEEL  SIZES M3 - M24
REFILL PG 98

V-1079 STEPLESS EAR CLAMP KIT
STAINLESS STEEL
REFILL PG 99

V-1082 BRASS FITTINGS KIT
BRASS  SIZES

REFILL PACKS: PG 100

25



V-1084 VACCUM HOSE JOINER KIT
SIZES
REFILL PG 101

V-2000 GO CART COUNTERSUNK & CAP

SCREW KIT
REFILL PG 102

£

V- 2001 RED FIBRE WASHER KIT

REFILL PG 103

V-2002 SUMP/DRAIN PLUG KIT
STEEL / PLASTIC - VARIOUS SIZES
REFILL PACKS: PG 104

26




V-2003 TOYOTA FLARE MOULD CLIP KIT
PLASTIC/NYLON - VARIOUS SIZES

REFILL PACKS: PG 105

V- 2004 METRIC HEX BOLT/NUT KIT

SIZES
REFILL PG 106

V- 2005 STAINLESS STEEL SOCKET HEAD CAFR

SCREW KIT
REFILL PG 107

V-2006 HEX HEAD SET/SET SCREW KIT
SIZES
REFILL PACKS: PG 108

27




28



29



REPLACEMENT PACKS

ITEM CODE SIZE & DESCRIPTION BULK QTY

V - SSILM4 SS INTERNAL LOCK WASHER M4 50 100
V - SSELM4 SS EXTERNAL LOCK WASHER M4 50 100
V - SSILMé6 SS INTERNAL LOCK WASHER M6 50 100
V - SSELM6 SS EXTERNAL LOCK WASHER M6 50 100
V - SSILM8 SS INTERNAL LOCK WASHER M8 50 100
V - SSELM8 SS EXTERNAL LOCK WASHER M8 50 100
V - SSILMIO SS INTERNAL LOCK WASHER MI0 50 100
V - SSELMIO SS EXTERNAL LOCK WASHER MI0 50 100
V - SSILMI2 SS INTERNAL LOCK WASHER MI12 40 100
V - SSELMI2 SS EXTERNAL LOCK WASHER M12 40 100
V - SSILM14 SS INTERNAL LOCK WASHER M4 40 100
V - SSELM14 SS EXTERNAL LOCK WASHER M4 40 100
V - SSILM16 SS INTERNAL LOCK WASHER M16 30 100
V - SSELMI16 SS EXTERNAL LOCK WASHER M16 30 100
V - SSILM1I8 SS INTERNAL LOCK WASHER M18 30 100
V - SSELMI18 SS EXTERNAL LOCK WASHER M18 30 100
V - SSILM20 SS INTERNAL LOCK WASHER M20 20 100
V - SSILM20 SS EXTERNAL LOCK WASHER M20 20 100
i - i TG ,';"'-f
O | L2 | £ L2
e i N -'-;_ﬂ_,; A -‘_ﬁ,ﬂ'
V -SSILM4 | V - SSELM4 | V - SSILM6 | V - SSELMé6 | V - SSILM8 | V - SSELM8
b= A ¥ L L+.A
™ & SL F*a, e ¥, o N
"; ::' o _: g—. ::' y & s—. :ﬁ "ll-.. 'E'.
Ay =) Tar S0 Tay D
V - SSILMIO | V - SSELMIO | V - SSILMI2 | V - SSELMI2 | V - SSILMI4 [V - SSELMI4
Fva |Sa p— S e '_.',-‘-—-—i-;
g’: o |% s é;,; . 7 g’: J | . 7
. | - - w 4 F- ;| ; ]
L -y . 0 L |
V - SSILMI6 | V - SSELMI16 | V - SSILMI8 | V - SSELMI8 | V - SSILM20 |V - SSELM20

30



REPLACEMENT PACKS

- L S N, N
V-1001IMP - FLAT & STEEL WASHER  IMPERIAL

. B

N e

ITEM CODE SIZE & DESCRIPTION QryY BULK QTY
V -1W82 FLAT WASHER 5/32 X 3/8 X 20 200 500
vV -107 FLAT WASHER M4 X 9.0 X 0.8 200 500
V - IW1264 FLAT WASHER 5/32 X 5/8 X 16 100 500
V -106 FLAT WASHER 3/16 X 1/2 X 20 200 500
V-T2 FLAT WASHER 1/4 M6 200 500
V-103 FLAT WASHER 3/8 X 3/4 X 16 100 500
V-4 FLAT WASHER 3/8 X 3/4 X 16 100 500
V-95 FLAT WASHER 3/8 X 7/8 X 16 70 250
V -1W382 FLAT WASHER 3/8 X 1X 16 70 250
V-94 FLAT WASHER 3/8 X 11/2 X 16 35 250
V -1W97 FLAT WASHER 1/2 X 1X 16 70 250
V -1W98 FLAT WASHER 1/2 X 11/8 X 16 50 250
V -1IW375 FLAT WASHER 1/4 X 1X 16 50 250
V -102 FLAT WASHER 1/411/4 X 16 35 250
V-13 FLAT WASHER 3/8 X 1X 16 150 500
V-99 FLAT WASHER 5/16 X 7/8 X 16 80 250
V -IW379 FLAT WASHER 5/16 X 1X 16 50 250
V-98 FLAT WASHER 5/16 X 1/4 X 16 35 250

V - W82 v-107 | v-iwies | Vv-106 V-2 V -103

V-4 V-95 V -1wW382 V -94 V -1W97 V - IwWo8

OO © OO

V -1W375 V -102 V-13 vV -99 vV -1W379 V-98

31



REPLACEMENT PACKS

V-1001 METRIC & IMPERIAL - FLAT & SPRING WASHER
ITEM CODE SIZE & DESCRIPTION BULK QTY
V -107 FLAT WASHER 5/32 M4 200 500
V-T2 FLAT WASHER 1/4 M6 200 500
V -103 FLAT WASHER 1/4 Mé 100 500
V -105 SPRING WASHER 1/4 M6 200 500
V -102 PENNY WASHER 1/4 M6 35 550
V-92 FLAT WASHER 1/2 M12 40 250
V-96 SPRING WASHER 3/16 M5 200 500
V-3 FLAT WASHER 5/16 M8 150 500
V-99 FLAT WASHER 5/16 M8 80 500
V - 101 SPRING WASHER 5/16 M8 100 500
V-98 PENNY WASHER 5/16 M6 35 250
V-15 SPRING WASHER 7/16 60 250
V -106 FLAT WASHER 3/16 M5 200 500
V-4 FLAT WASHER 3/8 MIO 100 500
V-95 FLAT WASHER 3/8 MIO 70 230
V-97 SPRING WASHER 3/8 MIO 100 500
V-94 PENNY WASHER 3/8 MIO 35 250
V-6 FLAT WASHER 7/16 60 230
V=107 V-2
\_5 Q
V-96 V- 113

V - 106 V-4

32



REPLACEMENT PACKS

V100155 - STAINLESS STEEL FLAT & SPRING WASHER Bl STAINLESS STEEL
: -

ITEM CODE SIZE & DESCRIPTION BULK QTY
V - SSSWi1 SPRING WASHER M6 X 25 X 1.6 100 500
V - SSSwW2 SPRING WASHER M8 X 3.0 X 2.0 50 250
V - SSSW3 SPRING WASHER MIO X 3.5 X 2.2 35 250
V - SSFWOI FLAT WASHER M4 X 9.0X 0.8 100 500
V - SSFWI1 FLAT WASHER M5 X 10.0 X 1.0 100 500
V - SSFW1A FLAT WASHER M5 X 19 X 10 50 250
V - SSFWM525 FLAT WASHER M5 X 25X 15 20 250
V - SSFW2 FLAT WASHER M6 X 12X 1.0 70 500
V - SSFW3 FLAT WASHER M6 X 18 X 15 25 250
V - SSFW4A FLAT WASHER M6 X 25X 1.5 20 250
V - SSFW4 PENNY WASHER M6 X 315 X 15 20 250
V - SSFW5 FLAT WASHER M8 X 16 X 1.0 70 500
V - SSFWé FLAT WASHER M8 X19 X 1.0 50 250
V - SSFWTA FLAT WASHER M8 X 25X 10 25 250
V - SSFW7 PENNY WASHER M8 X 31X 15 20 250
V - SSFW8 FLAT WASHER MIO X 19 X 1.0 40 250
V - SSFW9 FLAT WASHER MIO X 25X 15 25 250
V - SSFW10 PENNY WASHER MIO X 31X 15 15 250

O

V -SSSWI | V-SSSW2 | V -SSSW3 [ V - SSFWOI V - SSFWIA

O o

V-SSFW2 | V - SSFW3 \ — SSFW4 | V - SSFW5

V - SSFWM525

O

V - SSFW6 V -SSFW7 | V-SSFW8 | V - SSFW9

33



REPLACEMENT PACKS

° R Y - =
V-I00IA - HEAVY DUTY HIGH TENSILE FLAT WASHER ZINC GOLD PLATED]
- b \
il

_-‘ 1 N ; ’ _.-.al_ -t 4 = % .- '._.- L gt
= 1'-.:” N\ ,1 - .

ITEM CODE SIZE & DESCRIPTION BULK QTY
V - FWHD14 HIGH TENSILE FLAT WASHER - M6 X 155 X 2.0 50 100
V - FWHD516 HIGH TENSILE FLAT WASHER - M8 X 17 X 2.0 50 100
V - FWHD38 HIGH TENSILE FLAT WASHER - MIO X 20 X 2.0 35 100
V - FWHD716 HIGH TENSILE FLAT WASHER - M11 X 22 X 2.0 30 100
V - FWHDI12 HIGH TENSILE FLAT WASHER - M12 X 27 X 3.0 15 50
V - FWHD916 HIGH TENSILE FLAT WASHER - M16 X 30 X 3.0 50
V - FWHD58 HIGH TENSILE FLAT WASHER - M16 X 33 X 3.0 50
V - FWHD34 HIGH TENSILE FLAT WASHER - M20 X 38 X 3.0 50
V - FWHD78 HIGH TENSILE FLAT WASHER - M25 X 44 X 3.5 5 50
V - FWHDI HIGH TENSILE FLAT WASHER - M27 X 50 X 3.5 4 50
V - FWHDI118 HIGH TENSILE FLAT WASHER - M30 X 55 X 3.5 3 50
V - FWHDI114 HIGH TENSILE FLAT WASHER - M35 X63 X 3.5 2 50

IL.,I " F'.:l-‘_ 1-.::'- : :
V - FWHDI4 | V - FWHD516| V - FWHD38| V - FWHD716| V - FWHDI2 | V - FWHD916

-
+-'

. - 5 .n"" 4

|'. 1 1 &
g8 ﬂl’{%—;—{’# . ._. "‘-;.

V - FWHD58 V—L“FWHD34 V - FWHD78| V - FWHDI |V - FWHDI8 | V - FWHDII4

34



ITEM CODE

V - 4153
V - 4112
V - 357
V - 486
V - 4129
V - 0402
V-3

vV -310

V - 4384
V - 358
V - 499
V - A665
V- 318

V - A489
V - A345
V - A438
V - A448
V - A1305

SIZE & DESCRIPTION

XMAS TREE
XMAS TREE
XMAS TREE
XMAS TREE
XMAS TREE
XMAS TREE
XMAS TREE
XMAS TREE
XMAS TREE
XMAS TREE
XMAS TREE

BONNET PAD FALCON CLIP

M4 X15X 15
M6 X 9 X 10
M5 X1 4 X 19
M5 X'12 X 14
M9 X 15 X 16
MIO X 16 X 25
M7 X10 X 18
M7 X 15X 18
M7 X 23 X 18
M7 X 21 X 21
M7 X 30 X 20

BONNET PAD CLIP

BONNET PAD CLIP M30 TOYOTA

REPLACEMENT PACKS

BONNET PAD CLIP M30 UNIVERSAL

BONNET PAD CLIP M25 TOYOTA
BONNET PAD CLIP M30 TOYOTA

BONNET PAD CLIP SUBARU

QryY

20
40
18
15
13
10
20
25
15
15
15
8
10
10
10
10
10
10

PLASTIC

BULK QTY

100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100

V - 4153 V- 4112 V - 357 V - 486 V - 4129 V - 0402
V-3 vV -310 V - 4384 V - 358 V - 499 V - A665
V- 318 V - A489 V - A345 V - A438 V - A448 V - 1305

35




REPLACEMENT PACKS

PLASTIC

ITEM CODE SIZE & DESCRIPTION BULK QTY

V - 379A PUSH RETAINER M5 X 13 10 100
vV -3l16 PUSH RETAINER M6 15 100
V - 463 PUSH RETAINER M6 X 13 10 100
V - 462 PUSH RETAINER M7 X 12 10 100
V- 4] PUSH RETAINER M7 X 8 X 20 10 100
V - 591 PUSH RETAINER M8 X 9 X 20 9 100
V - A660 PUSH RETAINER M7 X 10 X 20 10 100
V -590 PUSH RETAINER M8 X 10 X 20 10 100
V - 577 SCRIVET RETAINER M7 X 9 X 15 15 100
V -308 SCRIVET RETAINER M6 X 10 X 20 20 100
vV -359 SCRIVET RETAINER M8.5 X 10 X 18 15 100
V -577A SCRIVET RETAINER M8 X 12 X 15 20 100
V- A28 SCRIVET RETAINER M6.5 X 15 X 18 10 100
V -438 SCRIVET RETAINER M8 X 10 X 20 15 100
V - A443 PUSH RETAINER M9 X 12 X 18 9 100
V - Al26 PUSH RETAINER M@ X 15 X 20 10 100
V - B5A PUSH RETAINER M9 X 10 X 18 10 100
V - BC89 PUSH RETAINER MI0 X 15 X 18 10 100

V - 379A V-316 V - 463 V - 462 V - 4] V - 591
V-A660 | V-590 V -577 V - 308 V - 359 V - 577A

V-A28 V- 438 V - A443 V - Al26 V - B5A V - BC89

36



REPLACEMENT PACKS

i

V-1003 - TOYOTA SPECIFIC TRIM CLIP KIT PLASTIC

f nf S
-

ITEM CODE SIZE & DESCRIPTION Qry BULK QTY
V- 142 GUARD LINER SCREW GROMMET 5 100
V -352 DOOR TRIM CLIP LANDCRUISER 20 100
V - Al056 DOOR TRIM CLIP 10 100
V - A792 UNDER BONNET TRIM CLIP 10 100
V - BC89 PUSH RETAINER MIO 10 100
V - 4] PUSH RETAINER LINER CLIP 10 100
V-374 GRILL CLIP 10 100
V-35 RETAINER GRILL CLIP 10 100
V -333 GUARD RETAINER CLIP 5 100
V - A508 ROCKER PANEL CLIP M6 10 100
V - A531 ROCKER PANEL CLIP SEALED 10 100
V - A458 FENDER MOULD CLIP RED 10 100
V - A781 HOOD FENDER MOULD CLIP 10 100
V - A438 BONNET INSULATION CLIP M8 10 100
V - B5A PUSH RETAINER M9 10 100
V - AL4L48 PUSH RETAINER M8 X 30 10 100
V - A793 MOULDING RETAINER M9 10 100
V - 590 PUSH TRIM RETAINER M9 10 100
V - AB45 MOULD TRIM RETAINER M9 10 100

oo R X

V-142 V-352 V-AI056 | V-A792 V - BC89 V- 4]

= % N

V-374 V-315 V-333 V - A508 V - A531 V - A458

L | A | &

V - A78] V - A438 V - B5A V - A448 V- A7T93 V -590

V - AB45 37

f
i .




REPLACEMENT PACKS

_‘1'

V-1003 - EURO SPECIFIC TRIM CLIP KIT PLASTIC

ITEM CODE SIZE & DESCRIPTION BULK QTY

V - AL9D BUMPER RETAINER M6.5 BMW 10 100
V - A6O3 PUSH RETAINER M8 MERC 10 100
V - AT52 PUSH RETAINER Ml VW/AUDI 10 100
V - AT53 DOOR TRIM RETAINER MIO VW 10 100
V - AT54 PUSH RETAINER M8.3 VW/AUDI 10 100
V - AT56 DOOR TRIM RETAINER VW SKODA 10 100
V - AO49 HOOD RETAINER RING VW/AUDI 10 100
V - A952 TRIM RETAINER MERC BMW SEAT 10 100
V - A998 DOOR TRIM RETAINER VW AUDI SKODA 10 100
V - AlOS] EXTERIOR TRIM RETAINER VW AUDI 10 100
V - AI232 DOOR TRIM RETAINERM8 VW 10 100
V - A430 DOOR TRIM RETAINER M8 VW AMAROCK 10 100
V -MAI433  ENGINE COVER SPEED NUT 10 100
V - Al442 TRIM RETAINER M9 10 100
V - 443 BONNET PAD RETAINER M6 10 100
V- Al475 DOOR TRIM RETAINER M7.5 10 100
V - AI4T7 DOOR TRIM RETAINER M9 10 100
V - AI5I5 DOOR TRIM RETAINER M8 10 100

V - A492 V - A603 V - A752 V - A753 V - A754 V- A756

D A A

V - A949 V - A952 V - A998 V - AlO5] V-AI232 | V-Al430

2 % N & ¢

V-MAI433 | V-AI442 | V-Al443 | V-AI475 | V-AI4TT | V-AI5I5

R

38



REPLACEMENT PACKS

1
PLASTIC

ITEM CODE SIZE & DESCRIPTION BULK QTY

V - 345 CANOE CLIP M4 25 100
V - 470 HOOD LINER CLIP 20 100
V - A44] HOOD SEAL CLIP 20 100
vV -320 HOOD LINER CLIP 20 100
V - 469 HOOD LINER CLIP 20 100
V - 462A SEAL TRIM CLIP 20 100
V-334 WEATHER SEAL CLIP 40 100
V - 334A WEATHER SEAL CLIP LONG 25 100
V - 334B WEATHER SEAL CLIP ROUND 20 100
V-43 XMAS TREE CLIP M7 X 18 GREY 15 100
V - 351 UNIVERSAL TRIM CLIP 20 100
V - 141 UNIVERSAL SNAP TUBE 20 100
V- A65 PUSH RETAINER M6X12 10 100
V - AI96GR PUSH RETAINER GREY LONG 8 100
V-339 DOOR SEAL CLIP STANDARD 50 100
V- 339A DOOR SEAL CLIP 50 100
V -352 DOOR TRIM CLIP TOYOTA/UNIV 20 100
V - A545 MOULD CLIP/TOYOTA/GM 10 100

- | A | A

V - 345 V -470 V - A44]

A A A

V-334 V - 334A V - 334B V-43 V - 351 vV -141

* | - > @

V - Ab5 V-Al96GR | V-339 V - 339A V- 352 V - AB45

A

V - 462A

39



REPLACEMENT PACKS

" e
1004WS - WINDSCREEN TRIM & PLASTICS KIT

PLASTIC

ITEM CODE

SIZE & DESCRIPTION

m

Qry

BULK QTY

V - 345 CANOE CLIP 25 100
V - 4153 XMAS TREE CLIP THIN 20 100
V - 4112 XMAS TREE CLIP PLUG 40 100
V - 486 XMAS TREE CLIP M5 15 100
V -3l XMAS TREE CLIP M7 SHORT 25 100
V - 310 XMAS TREE CLIP M7 UNIVERSAL 25 100
V - 358 XMAS TREE CLIP M7 LONG 15 100
V - 4129 XMAS TREE CLIP THICK 13 100
V -352 TRIM RETAINER UNIVERSAL 20 100
V - 479 TRIM RETAINER UNIVERSAL 10 100
V - A793 TRIM RETAINER TOYOTA 10 100
V - AB45 TRIM RETAINER TOYOTA/UNIV 10 100
V - Al056 TRIM RETAINER TOYOTA/UNIV 10 100
V - 334B TRIM RETAINER ROUND 20 100
V - 334A TRIM RETAINER LONG SHAFT 25 100
V - A508 TRIM RETAINER TOYOTA SMALL 10 100
V - A65 SCRIVET CLIP M6 10 100
V - A1307 PLENUM CLIP SUBARU 10 100

- (0~ & o b O
V -345 V - 4153 V - 4112 V - 486 V-3 VvV -310

= = " & e o

V - 358 V - 4129 V -352 V - 479 V- A793 V - AB45
V - Al1056 V - 334B V - 334A V - A508 V - A65 V - A1307




REPLACEMENT PACKS

- ¥ Ir— = o |
i -l tbidag |y l = albl TR

1005 - UNC COURSE BOLT & NUT KIT -.ZINC PLATED

ITEM CODE SIZE & DESCRIPTION BULK QTY

V - 501 UNC BOLT 1/4 X 3/4 25 100
V - 502 UNC BOLT 1/4 X 1 25 100
V - 503 UNC BOLT 1/4 X 11/4 20 100
V - 504 UNC BOLT 1/4 X 11/2 15 100
V - 505 UNC BOLT1/4 X 2 15 100
V - 506 UNC NUT 1/4 70 100
V - 507 UNC BOLT 5/16 X 3/4 18 100
V - 508 UNC BOLT 5/16 X 1 15 100
V - 509 UNC BOLT 5/16 X 11/4 14 100
V - 510 UNC BOLT 5/16 X 11/2 12 100
V - 511 UNC BOLT 5/16 X 2 10 100
V - 512 UNC NUT 5/16 60 100
V- 513 UNC BOLT 3/8 X 3/4 15 100
V - 514 UNC BOLT 3/8 X 1 15 100
V-55 UNC BOLT 3/8 X 11/4 12 100
V- 516 UNC BOLT 3/8 X 11/2 10 100
V - 517 UNC BOLT 3/8 X 2 8 100
V - 518 UNC NUT 3/8 50 100

o | | = — &

V - 501 V - 502 V - 503 V - 504 V-505 | V-506
V - 507 V - 508 V - 509 V - 510 V - 511 V -52
V-53  |v-514 V - 515 V -516 V - 517 V - 518

4]



REPLACEMENT PACKS

ITEM CODE

SIZE & DESCRIPTION

ZINC PLATED

V - 601 UNF BOLT 1/4 X 3/4 25 100
V - 602 UNF BOLT 1/4 X 1 25 100
V - 603 UNF BOLTI/4 X 11/4 20 100
V - 604 UNF BOLT 1/411/2 15 100
V - 605 UNF BOLT 1/4 X 2 15 100
V - 606 UNF NUT 1/4 70 100
V - 607 UNF BOLT 5/16 X 3/4 18 100
V - 608 UNF BOLT 5/16 X 1 15 100
V - 609 UNF BOLT 5/16 X 11/4 14 100
V - 610 UNF BOLT 5/16 X 11/2 12 100
V - 61 UNF BOLT 5/16 X 2 10 100
V - 612 UNF NUT 5/16 60 100
V- 613 UNF BOLT 3/8 X 3/4 15 100
V- 6l4 UNF BOLT 3/8 X 1 15 100
V - 615 UNF BOLT 3/8 X 11/2 12 100
V- 616 UNF BOLT 3/8 X 11/2 10 100
V - 617 UNF BOLT 3/8 X 2 8 100
V - 618 UNF NUT 3/8 50 100

b= == e | o— | — | B

V- 601 V - 602 V-603 V - 604 V - 605 V - 606

V - 607 V - 608 V - 609 V - 610 V -6l V-612

V- 613 V - 614 V-6I5 V - 616 V- 617

42

BULK QTY




z

"._

..L‘lll-la

REPLACEMENT PACKS

1007 -METRIC HEX BOLT KIT M4 M5 Mé ZINC PLATED ‘
e S

=

ITEM CODE SIZE & DESCRIPTION BULK QTY
V - HSSNM412 BOLT M& X 12 25 100
V - HSSNM420 BOLT M4 X 20 25 100
V - HSSNM430 BOLT M4 X 30 30 100
V - HSSNM440 BOLT M4 X 40 25 100
V - 107 WASHER M 200 500
V - PAN6 NUT M4 250 1000
V - HSSNM512 BOLT M5 X 12 25 100
V - HSSNM520 BOLT M5 X 20 25 100
V - HSSNM530 BOLT M5 X 30 25 100
V - HSSNM540 BOLT M5 X 40 25 100
V - 106 WASHER M5 200 1000
V- PAN 12 NUT M5 200 1000
V - HSSNM616 BOLT M6 X 16 25 100
V - HSSNM625 BOLTM6 X 25 25 100
V - HSSNM635 BOLT M6 X 35 25 100
V- HSSNM650 BOLT M6 X 35 25 100
V -103 WASHER M6 100 500
V - PANIS NUT M6 150 100
= - b o -
V - HSSNM412 |V - HSSNM420 [V - HSSNM430 |V - HSSNM440 [V - 107 V - PAN6
o = | o™ “> -
V - HSSNM512 [V - HSSNM520 |V - HSSNM530 |V - HSSNM540 |V - 106 V - PANI2
V - HSSNM616 [V - HSSNM625 |V - HSSNM635 [V - HSSNM650 |V - 103 V - PANI8

43



REPLACEMENT PACKS

- -
STAINLESS STEEL ;‘,hq
a4 2 ,,g"':';u
¢ ¥
s - 2 r—‘.' A i
ITEM CODE SIZE & DESCRIPTION BULK QTY
V - SSM550 S/STEEL SET SCREW M5
V - SSNYLM5  S/STEEL NYLOC NUT M5 25 100
V - SSFWI1 S/STEEL FLAT WASHER M5 100 500
V - SSMé6I12 S/STEEL SET SCREW M6X12 25 100
V - SSM620 S/STEEL SET SCREW M6X20 23 100
V - SSM630 S/STEEL SET SCREW M6X30 20 100
V - SSFW3 S/STEEL FLAT WASHER M6 25 250
V - SSNYLMé6  S/STEEL NYLOC NUT Mé 30 100
V - SSM640 S/STEEL SET SCREW M6X40 20 100
V - SSM816 S/STEEL SET SCREW M8X16 20 100
V - SSM825 S/STEEL SET SCREW M8 X 25 15 100
V - SSM835 S/STEEL SET SCREW M8 X 35 15 100
V - SSFWé S/STEEL FLAT WASHER M8 50 250
V - SSNYLM8  S/STEEL NYLOC NUT M8 40 100
V - SSM850 S/STEEL SET SCREW M8X50 10 100
V- SSMI1020 S/STEEL SET SCREW MIOX20 10 100
V - SSMI030 S/STEEL SET SCREW MIOX30 8 100
V - SSMI1050 S/STEEL SET SCREW MIOX40 5 100
V - SSFWQ S/STEEL FLAT WASHER MI0 25 100
V - SSNYLMIO S/STEEL NYLOC NUT MIO 24 100

"m0 O e

V -SSM550 |V - SSNYLM5 |V - SSFWI1 V-SSM612  V -SSM620 |V - SSM630

© ™0 =" o= = g="

V - SSFW3 V - SSNYLM6 |V -SSM640 |V -SSMB816 |V -SSM825 |V - SSM835

© g & o= o~

V - SSFWé V -SSNYLM8 |V -SSM850  V - SSMI020 V- SSMI030  V - SSMI050

44 © "-'*L@

V - SSFW9Q V=SSNYLMIO

\
\




REPLACEMENT PACKS

T,

N W o . '
N =T Ll - ’

L#| 1009SS -STAINLESS STEEL SELF TAPPER KIT STAINLESS STEEL ‘

' f_

--_ ~ - s r | -

- 4 e ’ ; ——

ITEM CODE SIZE Qry BULK QTY

V -901A PAN HD 6G X 3/8 70 200
V - 901 PAN HD 6G X 3/4 50 200
vV -903 PAN HD 6G X 11/4 35 200
V -905 COUNTERSUNK 6G X 1 50 200
V - 908A PAN HD 8G X 1/2 50 200
V -908 PAN HD 8G X 3/4 50 200
V-913 PAN HD 8G X 11/4 35 200
V-9 COUNTERSUNK 8G X 5/8 50 200
V-912 PAN HD 8G X 1 40 200
vV -917 COUNTERSUNK 8G X 11/2 40 200
V - 915A PAN HD 10G X 1/2 40 200
V - 915B PAN HD 10G X 3/4 40 200
V-915 PAN HD 10G X 1 30 200
V -915C COUNTERSUNK 10G X 1/2 40 200
V-918 COUNTERSUNK 10G X 1 25 200
V- 918C PAN HD 12G X 1/2 25 200
V-919 PAN HD 12G X 3/4 25 200
V - 918A PAN HD 12G X 1 25 200
C ol L p— - —
V - 901A V - 901 V -903 V -905 V - 908A V -908
- e I o >
V-913 V-9 V-912 vV -917 V - 915A V - 915B
- F= - = e e
V-915 V - 915C V-918 V -918C V-919 V - 918A

45




REPLACEMENT PACKS

& Il T ¥

1010 -LINCH & SHAFT LOCK PIN KIT

ITEM CODE
V - PINI SHAFT LOCKING PIN 5
V - PIN7 LINCH PIN 5
V - PIN3 SHAFT LOCKING PIN 5
V - PIN4 LINCH PIN 5
V - PIN2 SHAFT LOCKING PIN 5
V - PIN5 LINCH PIN 5

o 7ol e,

V - PINI V - PIN7 - PIN3 V - PIN4 2 V - PIN5

46



REPLACEMENT PACKS

W r

1011 - PO RIVET KIT | ALUMINIUM & STEELS

—

.

ITEM CODE SIZE QryY BULK QTY
V-925 POP RIVET 4-3 1/8X3/16 100 250
V-293 POP RIVET 4-4 1/8X1/4 75 250
vV -930 POP RIVET 4-6 1/8X3/4 100 250
V-932 POP RIVET 5-4 5/32X1/4 50 250
V -93i POP RIVET 5-6 5/32X3/8 50 250
V - 02955 POP RIVET 5-12 TORNEAU CLIP 40 250
V-927 POP RIVET 6-3 3/16X3/16 40 250
V-92] POP RIVET 6-4 3/16X 1/4 50 250
vV -920 POP RIVET 6-5 3/16X5/16 50 250
V-934 POP RIVET 6-8 3/16 L FLANGE 20 250
V -935 POP RIVET 6-8 3/16 X 3/4 30 250
V -936 POP RIVET 8-6 1/4X3/8 20 250

V-925 V-293 V -930 V-932 V- 93l V - 02955

A | | | | |

vV -927 V-92] V -920 V-934 V -935 V -936

47



REPLACEMENT PACKS

j

- 101IP - PLASTIC POP RIVET KIT

ITEM CODE SIZE QryY BULK QTY
V - 4300 PLASTIC RIVET 13/64 GM CHR-FORD-VW 10 100
V - 4301 PLASTIC RIVET 1/4 GM CHR FORD 10 100
V - 4302 PLASTIC RIVET 1/4 GM CHR FORD 10 100
V - 4303 PLASTIC RIVET 17/64 GM VW 10 100
V - 4304 PLASTIC RIVET 13/64 CHRYSLER 10 100
V - 4576 PLASTIC RIVET 5.6MM BMW 10 100
V - 41322 PLASTIC RIVET 6MM BMW 10 100
V - 41323 PLASTIC RIVET 5MM BMW 10 100
V - 41309 PLASTIC RIVET 3/16 GM 10 100
V - 41310 PLASTIC RIVET 15/64 GM 10 100
V - 4131 PLASTIC RIVET 13/64 GM CHRYSLER 10 100
V - 41312 PLASTIC RIVET 15/64 GM 10 100
V - 41313 PLASTIC RIVET 15/64 CHRYSLER DODGE 10 100
V - 41314 PLASTIC RIVET 1/4 CHRYSLER 10 100
V - 41315 PLASTIC RIVET 1/4 CHRYSLER 10 100
V- 41316 PLASTIC RIVET 1/4 SHORT 5 100
V - 41318 PLASTIC RIVET 1/4 LONG 5 100
V - 41317 PLASTIC RIVET 1/4 CHRYSLER 10 100
V - 41319 PLASTIC RIVET 1/4 GM 10 100

N\

V - 4300 V - 4301 V - 4302 V - 430 V - 4304 V - 4576

X

V-41322 | V-41323 V - 4130 V - 41310 V - 4131 V - 41312

V-413137 | V- 41314 V - 41315 V - 41316 V - 41318 V- 41317

0|

V - 41319




REPLACEMENT PACKS

e ] i ' =
STAINLESS STEEL &=

V- 1011SS - STAINLESS STEEL POP RIVET KIT
. T—

.

ITEM CODE SIZE QrY BULK QTY
V - 55922 4-2 STAINLESS STEEL RIVET TRUSS HEAD 60 200
V - 55925 4-3 STAINLESS STEEL RIVET TRUSS HEAD 60 200
V - S5923 4-4 STAINLESS STEEL RIVET TRUSS HEAD 60 200
V - SS930 4-6 STAINLESS STEEL RIVET TRUSS HEAD 50 200
V - 55932 5-4 STAINLESS STEEL RIVET TRUSS HEAD 50 200
V - S5931 5-6 STAINLESS STEEL RIVET TRUSS HEAD 50 200
V - §5927 6-3 STAINLESS STEEL RIVET TRUSS HEAD 40 200
V - S5921 6-4 STAINLESS STEEL RIVET TRUSS HEAD 40 200
V - 55920 6-5 STAINLESS STEEL RIVET TRUSS HEAD 40 200
V - 55933 6-6 STAINLESS STEEL RIVET TRUSS HEAD 30 200
V - 55934 6-8 STAINLESS STEEL RIVET TRUSS HEAD 30 200
V - S5937 6-10 STAINLESS STEEL RIVET TRUSS HEAD 30 200

N B S S S S

V -§5922 V - §5925 V -§5923 V -5S930 V -5§5932 7|V -SS93I1
S X S S S S

V -§5927 V -SS921 V -55920 V -SS933 V -S5934 V -SS937

49




REPLACEMENT PACKS

.

\%

- 1013 L - LARGE SPLIT PIN

ITEM CODE

V - SP650
V - SP6363
V - SP6380
V - SP6100
V - SP880
V - SP10100

KIT
—

SIZE

SPLIT PIN LARGE M6.0 X 50
SPLIT PIN LARGE M6.3 X 63
SPLIT PIN LARGE Mé6.3 X 80
SPLIT PIN LARGE M6.0X 100
SPLIT PIN LARGE M8 X 80
SPLIT PIN LARGE MIOX 100

QryY

25
12
12
12
12
12

BULK QTY

50
25
25
25
25
25

N\

i,

V -SP650

P

V -SP363

i

V-SP6380

P

V - 6100

NN

V -SP880

V -SPI0100




REPLACEMENT PACKS

ITEM CODE QryY BULK QTY
V - SP280 SPLIT PIN 1/16X7/8 100 250
V - SP277 SPLIT PIN 5/64X7/8 60 250
V - SP285 SPLIT PIN 5/64X7/16 60 250
V - SP275 SPLIT PIN 3/32X11/4 60 250
V -SP278 SPLIT PIN 3/32X1 3/4 50 250
V - SP288 SPLIT PIN1/8 X 1 60 250
V - SP289 SPLIT PIN 1/8X11/2 50 250
V - SP273 SPLIT PIN 1/8X2 40 250
V - SP290 SPLIT PIN 5/32X1 35 250
V - SP279 SPLIT PIN 5/32X2 30 250
V - SP268 SPLIT PIN 5.0X32MM 25 250
V - SP274 SPLIT PIN 5.0X50MM 20 250

]
W)
)

LB

/ ¢ | /f
V-SP280 (V-SP277 |[V<SP285 |VZsp275 |VZSP278 |V - SP288

ﬂ:"l _-'; | -:-
s

v / '

V-5p289  VEsP273  |[V£SP290  (VZsP279 |V I sposs

51



REPLACEMENT PACKS

ITEM CODE SIZE QryY BULK QTY
vV -278 NYLOC NUT UNC 1/4 50 100
V-279 NYLOC NUT UNC 5/16 50 100
V -280 NYLOC NUT UNC 3/8 30 100
V -285 NYLOC NUT UNC 7/16 20 100
V -286 NYLOC NUT UNC 1/2 10 100
V - HNNYC58 NYLOC NUT UNC 5/8 8 100
V-276 NYLOC NUT M4 100 250
V - 288 NYLOC NUT M5 100 250
V -289 NYLOC NUT M6 X 1.0 80 250
vV -290 NYLOC NUT M8 X 1.25 50 250
V-275 NYLOC NUT MIO X 1.25 20 100
V - 275A NYLOC NUT M8 X 1.5 25 100
V - 269 NYLOC NUT UNF 1/4 50 250
V-270 NYLOC NUT UNF 5/6 40 100
vV -271 NYLOC NUT UNF 3/8 25 100
V-272 NYLOC NUT UNF 7/16 15 100
V- 273 NYLOC NUT UNF 1/2 12 100
V-274 NYLOC NUT M12 X 1.75 15 100

#3.,“ ﬁfg ﬂ.ﬁﬁ*% =4y %&ﬁ'% N= %gﬂr

V -278 V-279 V -280 V -285 V -286 V - HNNYC38

=0 | *nD NI =9 =13 ™D

V-276 V= 266 V -289 = 2 = 275- o e 52

- ] T i .q-=—'ﬂ-_ g
- - T e, BB | cagh = (MERA L
=% =3 i = L= =l g | — A" @
i B i I@ T g} o i { 1 ¥ -
V - 269 vV -270 vV -271 V-272 vV -273 V-274

52



REPLACEMENT PACKS

ITEM CODE SIZE BULK QTY
V - SSNYLM4 STAINLESS STEEL NYLOC NUT M4 50 100
V - SSNYLM5 STAINLESS STEEL NYLOC NUT M5 40 100
V - SSNYLMé6 STAINLESS STEEL NYLOC NUT M6 30 100
V - SSNYLM8 STAINLESS STEEL NYLOC NUT M8 20 100
V - SSNYLMIO STAINLESS STEEL NYLOC NUT MI0 24 100
V - SSNYLMI2 STAINLESS STEEL NYLOC NUT M12 15 100
V - SSNYLUNFT STAINLESS STEEL NYLOC NUT UNF 1/4 20 100
V - SSNYLUNF2 STAINLESS STEEL NYLOC NUT UNF 5/16 20 100
V - SSNYLUNF3 STAINLESS STEEL NYLOC NUT UNF 3/8 20 100
V - SSNYLUNF4 STAINLESS STEEL NYLOC NUT UNF 1/2 18 100
V - SSNYLUNF5 STAINLESS STEEL NYLOC NUT UNF 7/16 40 100
V - SSNYLUNF6 STAINLESS STEEL NYLOC NUT UNF 5/8 9 100
V - SSNY1 STAINLESS STEEL NYLOC NUT UNC 1/4. 20 100
V - SSNY2 STAINLESS STEEL NYLOC NUT UNC 5/16 20 100
V - SSNY3 STAINLESS STEEL NYLOC NUT UNC 3/8 20 100
V - SSNY4 STAINLESS STEEL NYLOC NUT UNC 7/16 20 100
V - SSNY5 STAINLESS STEEL NYLOC NUT UNC 1/2 18 100
V - SSNY6 STAINLESS STEEL NYLOC NUT UNC 5/8 8 100

V -SSNYLM4 |V -SSNYLM5 [V -SSNYLM6 |V - SSNYLMS8 |V -SSNYLMIO |V -SSNYLMI2
V - SSNYLUNFT |V - SSNYLUNF2 | V - SSNYLUNF3 |V - SSNYLUNF4 | V - SSNYLUNF5 |V - SSNYLUNF6
V - SSNYT1 V -SSNY2 [V -SSNY3 V -SSNY4 |V -SSNY5 [V - SSNY6

53




REPLACEMENT PACKS

\'%

ITEM CODE QryY BULK QTY
V - PAN2 PAN PHILLIPS M4 X 10 60 250
V - PAN3 PAN PHILLIPS M4 X 16 50 250
V - PAN4 PAN PHILLIPS M4 X 20 50 250
V - PAN5 PAN PHILLIPS M4 X 25 50 250
V - PANSA PAN PHILLIPS M4 X 40 50 250
V - PAN6 HEX NUT M4 250 1000
V - PAN7 PAN PHILLIPS M5 X 10 60 250
V - PAN8 PAN PHILLIPS M5 X 16 50 250
V - PANQ PAN PHILLIPS M5 X 20 50 250
V - PANIO PAN PHILLIPS M5 X 25 40 250
V - PANTI PAN PHILLIPS M5 X 40 35 250
V - PANI2 HEX NUT M5 200 1000
V - PAN13 PAN PHILLIPS M6 X 10 50 250
V - PAN14 PAN PHILLIPS M6 X 20 40 250
V - PANI5 PAN PHILLIPS M6 X 30 30 250
V - PAN16 PAN PHILLIPS M6 X 40 250 1000
V - PANT17 PAN PHILLIPS M6 X 60 15 250
V - PANI8 HEX NUT M6 150 500

V-PAN2 | V-PAN3 | V-PAN4 | V-PAN5 |V-PANSA | -PAN6
N - e [ €D
= U 4 %
V - PAN7 V - PAN8 V-PANQ |V -PANIO [V - PANII V - PANI2
V -PANI3 |V - PANI4 V -PANI5 |V - PANI16 V -PANT7 V - PANI8

54




V - 10155

-

Ly

S - STAINLESS STEEL METAL THREAD KIT
.. '

L

REPLACEMENT PACKS

ITEM CODE SIZE QrY BULK QTY
V - SSPANMAI6  STAINLESS STEEL PAN HEAD M4 X 16 25 100
V - SSPANM425  STAINLESS STEEL PAN HEAD M4 X 25 20 100
V - SSPANMA4O  STAINLESS STEEL PAN HEAD M4 X 40 12 100
V - SSPANMA50  STAINLESS STEEL PAN HEAD M4 X 50 10 100
V - SSFWOI STAINLESS STEEL WASHER M4 X 12 100 500
V - SSNYLM4 STAINLESS STEEL NYLOC NUT M4 50 100
V - SSPANMSI6  STAINLESS STEEL PAN HEAD MS5 X 16 16 100
V - SSPANM525  STAINLESS STEEL PAN HEAD M5 X 25 14 100
V - SSPANMS535  STAINLESS STEEL PAN HEAD M5 X 35 13 100
V - SSPANM550  STAINLESS STEEL PAN HEAD M5 X 50 7 100
V - SSFWIA STAINLESS STEEL WASHER M5 X 20 25 100
V - SSNYLM5 STAINLESS STEEL NYLOC NUT M5 40 100
V - SSPANM6I6  STAINLESS STEEL PAN HEAD M6 X 16 1 100
V - SSPANM625  STAINLESS STEEL PAN HEAD M6 X 25 10 100
V - SSPANM635  STAINLESS STEEL PAN HEAD M6 X 35 9 100
V - SSPANM650  STAINLESS STEEL PAN HEAD Mé X 50 6 100
V- SSFW3 STAINLESS STEEL WASHER Mé X 20 25 100
V - SSNYLM6 STAINLESS STEEL NYLOC NUT M6 30 100
g =D | e
V - SSPANM416 |V - SSPANM425 [V - SSPANMA4A40 |V - SSPANM450( V - SSFWOI V - SSNYLM4
V - SSPANMS516 |V - SSPANM525 |V - SSPANM535 |V - SSPANMS50 |V - SSFWIA V - SSNYLM5
— = o O =5
V - SSPANM616 |V - SSPANM625 |V - SSPANM635 |V - SSPANM650| V - SSFW3 vV = SSNYLM6

55




REPLACEMENT PACKS

s iy - =
-l n # “ 1‘-_-_*'. Si== =
V - 1015BTN - METRIC HEX DRIVE BUTTON HEAD SOCKET SCREW KIT ZINC PLATED ‘
[* "'ql‘ . i

ITEM CODE SIZE QrY BULK QTY
V - BTNM516 HEX DRIVE BUTTON HEAD SCREW M5 X 16 30 100
V - BTNM525 HEX DRIVE BUTTON HEAD SCREW M5 X 25 30 100
V - BINM540 HEX DRIVE BUTTON HEAD SCREW M5 X 40 25 100
V - 288 NYLOC NUT M5 X 0.8 100 250
V - BTNM616 HEX DRIVE BUTTON HEAD SCREW M6 X 16 25 100
V - BINM625 HEX DRIVE BUTTON HEAD SCREW Mé X 25 30 100
V - BTNM630 HEX DRIVE BUTTON HEAD SCREW M6 X 30 25 100
V - BTINM645 HEX DRIVE BUTTON HEAD SCREW M6 X 45 20 100
V - 289 NYLOC NUT M6 X 1.0 80 250
V - BTNMB8I6 HEX DRIVE BUTTON HEAD SCREW M8 X 16 25 100
V - BTNM825 HEX DRIVE BUTTON HEAD SCREW M8 X 25 20 100
V - BTNM830 HEX DRIVE BUTTON HEAD SCREW M8 X 30 20 100
V - BTNM835 HEX DRIVE BUTTON HEAD SCREW M8 X 35 20 100
V - BTNMB850 HEX DRIVE BUTTON HEAD SCREW M8 X 50 15 100
V - 290 NYLOC NUT M8 X 1.25 50 250
V - BTNMIO50 HEX DRIVE BUTTON HEAD SCREW MIO X 50 10 100
V- 275 NYLOC NUT MIO X 1.25 20 100
T Y5 -9 R[N
V - BINM516 vV - BINM525 |V - BINM540 |V - 288 V - BTNM616 |V - BTNM625
-9 & [N
V - BINM630 |V - BINM645 |V - 289 V - BTNM816 V - BINM825 |V - BTNM830
\ \ -9
V - BTINM835 v - BTNM50 V -290 V - BINMIOS0 ||V 6 275

56




REPLACEMENT PACKS

V - 1015 CSK COUNTERSUNK METAL THREAD KIT m“

~

ITEM CODE SIZE QrY BULK QTY
V-C1786-] COUNTERSUNK PAN PHILLIPS M3 X 20 25 100
V-C1786-2 COUNTERSUNK PAN PHILLIPS M3 X 50 25 100
V-PAN23 HEX NUT M3 200 500
V-C1786-3 COUNTERSUNK PAN PHILLIPS M4 X 16 25 100
V-CI786-4 COUNTERSUNK PAN PHILLIPS M4 X 25 25 100
V-PANG HEX NUT M4 50 100
V-C1786-5 COUNTERSUNK PAN PHILLIPS M4 X 35 25 100
V-C1786-6 COUNTERSUNK PAN PHILLIPS M4 X 50 25 100
V-FLN4 FLANGE NUT M4 50 100
V-C1786-7 COUNTERSUNK PAN PHILLIPS M5 X 20 25 100
V-C1786-8 COUNTERSUNK PAN PHILLIPS M5 X 25 35 100
V-C1786-9 COUNTERSUNK PAN PHILLIPS M5 X 35 35 100
V-C1786-10 COUNTERSUNK PAN PHILLIPS M5 X 50 20 100
V-6 FLANGE NUT M5 100 250
V-C1786-11 COUNTERSUNK PAN PHILLIPS M6 X 16 25 100
V-C1786-12 COUNTERSUNK PAN PHILLIPS M6 X 20 25 100
V-C1786-13 COUNTERSUNK PAN PHILLIPS M6 X 25 25 100
V-706 FLANGE NUT M6 60 250
i \ ® \ \ &
V -C1786-1 |V -CI7862 |V-PAN23 |v -C1786-3 |V -C1786-4 |v - PANG
V-CI786-5 | v -C1786-6 | V -FLN4 | V -C1786-7 | vV -C1786-8 | V -C1786-9
V-CI786-10 | V-6 V -C1786-11 | v -C1786-12 | v -c1786-13 | V - 706

57



REPLACEMENT PACKS

ITEM CODE QryY BULK QTY
V - 407 PUSH ON 3/32 30 100
V - 408 PUSH ON 1/8 30 100
V - 410 PUSH ON 3/16 30 100
V - 404 “U” NUT 6G 25 100
V - 402 “U” NUT SHORT 8G 25 100
V - 403 “U” NUT LONG 8G 20 100
V - 399 “U” NUT SHORT 10G-3/16 BSW 20 100
V - 400 “U” NUT LONG 10G 20 100
V - 398 “U” NUT 12G 15 100
V - 397 “J” NUT 14G 15 100
V - 396 “U” NUT M5 12 100
V -394 “U” NUT SHORT M6 12 100
V-393 “U” NUT LONG M6 10 100
V -392 “U” NUT SHORT M8 10 100
V - 391 “U” NUT LONG M8 8 100
V -390 “U” NUT MIO 4 100
V - 414 HELMET NUT 3/16 15 100
V- 413 HELMET NUT 1/8 15 100

== == mh B 3 =
V - 407 V - 408 V - 410 V - 404 V - 402 V - 403
V - 399 V - 400 V - 398 V - 397 V - 396 V -394
Bl L5 &
 ——
V-393 V - 392 V - 391 V-390 V -414 V-413

58




REPLACEMENT PACKS

V - 1018 - ELECTRICAL TERMINAL KIT

ITEM CODE SIZE Qry BULK QTY
V - B616F RED FEMALE BLADE INSULATED 25 100
V - B639F BLUE FEMALE BLADE INSULATED 25 100
V - B616 RED FEMALE BLADE NON INSULATED 25 100
V - B639 BLUE FEMALE BLADE NON INSULATED 25 100
V - B616X RED MALE BLADE 25 100
V - B639X BLUE MALE BLADE 25 100
V - B609 RED FEMALE BULLET INSULATED 25 100
V - B608 RED MALE BULLET 25 100
V - B637 BLUE FEMALE BULLET INSULATED 25 100
V - B636 BLUE MALE BULLET 25 100
V - B618 RED JOINER 25 100
V - B630 BLUE JOINER 25 100
V - B650 YELLOW JOINER 20 100
V -B625 BLUE EYELET 8MM 20 100
V - B626 BLUE EYELET 10OMM 15 100
V - B607 RED EYELET 6MM 25 100
V - B623 BLUE EYELET 4MM 25 100
V - B643 YELLOW EYELET 8MM 10 100
V- Bb44 YELLOW EYELET 10MM 10 100
V - Bb46 YELLOW MALE BLADE 20 100
V - Bb47 YELLLOW FEMALE BLADE INSULATED 20 100

V - B616F V - B639F V - B616 V -B639 V - B616X V - B639X
V - B609 V - B608 V - B637 V -B636 V - B618 V - B630
’ : ' = -—_’
- '-'..i-'."l -
V - B650 V - B625 V - B626 V - B607 V - B623 V - B643
59
V - Bé44 V - B646 V - B647




REPLACEMENT PACKS

V - 1019 - SEM ASSEMBLY KIT STEEL/ZINC PLATED‘

—— i

ITEM CODE SIZE QryY BULK QTY
vV -217B SEM BOLT & FLAT WASHER M5 X 20 20 100
V-6 FLANGE NUT M5 100 250
V- 396 “U” NUT M5 12 100
V-223 SEM BOLT & DOUBLE WASHER M6 X 12 25 100
V - 460B SEM BOLT & DOUBLE WASHER M6 X 18 25 100
vV -303 SEM BOLT & DOUBLE WASHER M6 X 25 20 100
V -30B SEM BOLT & LARGE WASHER M6 X 18 20 100
V -15B SEM BOLT & LARGE WASHER M6 X 25 20 100
V -706 FLANGE NUT M6 60 200
V-394 “U” NUT M6 12 100
V- 398 SEM BOLT & DOUBLE WASHER M8 X 25 15 100
V-5l SEM BOLT & DOUBLE WASHER M8 X 30 10 100
V-T2 FLANGE NUT M8 40 100
V-392 “U” NUT SHORT M8 10 100
V -229B SELF TAP & WASHER 12G 25 100
V- 398 “U” NUT 12G 15 100
V -287B SELF TAP & WASHER 14G 20 100
V- 397 “J” NUT 14G 15 100

= e

-6 V- 396 V-223 V - 460B V-303
V -30B v - 19D V-706 |V-394 V - 39B V - 51

e . .

V-T2 V-392 V-229B |V-398 V -287B vV -397

V-217B \'%

e
)

b
)

60



ITEM CODE

V - STPB638
V - STPB634
V - STWB8I2
V - STWB858
V - STWB834
V - STPBII2

V - STPBI4]

V - SDW812

V - SDW8l16

V - SDW820
V - SDW825
V - STWBIO38
V - STPB1458
V - STPBI21

V - STPBIO1

V - STPBI1212
V - STWBIO34
V - STWBIO12

SIZE

PAN BLACK 6G X 3/8
PAN BLACK 6G X 3/4
WAFER BLACK 8G X 1/2
WAFER BLACK 8G X 5/8
WAFER BLACK 8G X 3/4
PAN BLACK 8G X1 1/2
PAN BLACK 14G X1
SELF DRILL L/ WAFER 8G X 12
SELF DRILL L/ WAFER 8G X 16
SELF DRILL L/ WAFER 8G X 20
SELF DRILL L/ WAFER 8G X 25
SELF TAP WAFER BLACK 10G X 3/8
SELF TAP PAN BLACK 14G X 5/8
SELF TAP PAN BLACK 12G X 1

SELF TAP PAN BLACK 10G X 1

SELF TAP PAN BLACK 12G X 1/2
SELF TAP WAFER BLACK 10G X 3/4
SELF TAP WAFER BLACK 10G X 1/2

SELF TAP
SELF TAP
SELF TAP
SELF TAP
SELF TAP
SELF TAP
SELF TAP

REPLACEMENT PACKS

BULK QTY

500
500
500
500
500
250
250
500
500
500
500
500
250
250
200
250
250
500

v

v’

v

V -STPB638 |V -STPB634 |V - STWB8I2 V - STWB858 V - STWB834 |V - STPBII2
' I -y i i’u’ﬁﬂ .
V - STPBI41 V - SDW812 V - SDW816 V -SDwW820 |V - SDw825 V - STWBIO38
V - STPBI458 [V - STPBI21 V - STPBIOI V - STPBI212 V - STWBIO34 |V - STWBIO12

ol




REPLACEMENT PACKS

g SISV v il g N DR

fl 1020SD - SELF DRILLING SCREW KIT PHILLIPS AND HEX DRIVE STEEL

T e——— l : T ——
1 : "r." i 2 '?—'ﬁ i r - - L
=~ g : g - A "

ITEM CODE SIZE QryY BULK QTY
V - SDP812 SELF DRILL PAN 8G X 12 100 500
V - SDW8I12 SELF DRILL WAFER 8G X 12 100 500
V - SDP816 SELF DRILL PAN 8G X 16 100 500
V - SDW816 SELF DRILL WAFER 8G X 16 100 500
V - SDP822 SELF DRILL PAN 8G X 22 75 250
V - SDw820 SELF DRILL WAFER 8G X 20 100 500
V - SDW825 SELF DRILL WAFER 8G X 25 50 250
V -938 SELF DRILL FINE 10G X 22 100 500
V - SDP840 SELF DRILL PAN 8G X 40 40 250
V - SSSDW1016 STAINLESS STEEL SELF DRILL WAFER 10G X 16 100 500
V - SSSDW1025 STAINLESS STEEL SELF DRILL WAFER 10G X 25 100 500
V - SDHEXI1016 SELF DRILL HEX 10G X 16 80 250
V - SDHEX1025 SELF DRILL HEX 10G X 25 80 250
V - DD122432 DEEP DRILL HEX 12G X 32 100 500

V -SDP812 |V -SDW812 |V -SDP816 |V -SDW8I6 |V -SDP822 |V - SDW820

V-SDW825| V -938 V - SDP840 |V - SSSDWI1016 |V - SSSDW1025{V - SDHEX1016

V - SDHEX1025|V - SDHEX1025|V -DD122432




REPLACEMENT PACKS

PAN HD 6G X 3/8
V - HNMF12125 PAN HD 6G X 3/4 8 100
V - PANI2 PAN HD 6G X 11/4 200 1000
V - HNMF12150 COUNTERSUNK 6G X1 10 100
V - PANI8 PAN HD 8G X 1/2 150 1000
V -T707A PAN HD 8G X 3/4 50 200
V-T13 PAN HD 8G X 11/4 30 100
V - HNMCI12175 COUNTERSUNK 8G X 5/8 10 100
V - HNMCI015 PAN HD 8G X 1 30 100
V- 276 COUNTERSUNK 8G X 11/2 100 250
vV -274 PAN HD 10G X 1/2 15 100
V - 288 PAN HD 10G X 3/4 100 250
V - HNNYMF12125 PAN HD 10G X 1 10 100
V - 289 COUNTERSUNK 10G X 1/2 100 250
V - 290 COUNTERSUNK 10G X 1 20 250
V- 275 PAN HD 12G X 1/2 20 100
V - 275A PAN HD 12G X 3/4 30 100
V - FLN4 PAN HD 12G X 1 100 250
V - FLNMF12125 FLANGE NUT M12 X 1.25 8 100
V-6 FLANGE NUT M5 100 250
V - FLNMCI2175 FLANGE NUT M12 X 1.75 5 100
V - 706 FLANGE NUT Mé 60 200
vV -T12 FLANGE NUT M8 X 1.25 40 100
vV -718 FLANGE NUT MIO X 1.25 25 100
V - 58 FLANGE NUT MIO X 1.5 20 100

ocgo@ 20

V-PAN6 | V-HNMFI2125| V -PANI2 |v-HNMFI0I25] V -PANI8 | V -T07A

929

V-TI3  |[V-HNMCI2I75 |V - HNMCIOIS |V - 276

e e @

- HNNYMFI2125| V - 289 V -290 V-275

<

63

V - FLNMCI2125| V - 6 V- FLNMC12175| V- 706




REPLACEMENT PACKS

. . : I "I? -‘
V -1022- SUMP PLUG WASHER KIT ALUMINIUM & FIBRE‘

S

ITEM CODE SIZE QrY BULK QTY
V - 441 TOYOTA CAMRY HI ACE FIBRE 18 X 28 8 100
V- 442 SUBARU LIBERTY LEONE ALUMIN 20 X 24 20 100
V - DPRIO GEN 3 RUBBER 10 X 20 20 100
V - 444 GMH HQ-WB COMM VB-VK ALUMIN 12 X 22 20 100
V - DRPI2 GEN/FORD RUBBER 12 X 22 20 100
V- 446 HOLDEN/NISSAN ALUMIN 12 X 22 20 100
V- 447 FORD/MAZDA/GMH/HYUNDAI/MITSUB ALUM 14 X 20 25 100
V - 448 HONDA/TOYOTA/UNIVERSAL ALUMINIUM 14 X 22 20 100
V- 449 FORD EA-EB ED-EF ALUMINIUM 12 X 18 30 100
V - 450B TOYOTA COROLLA/CAMRY-LITE ACEFIBRE12X 24 25 100
V - 459 RODEO ALUMINUM 14 X 24 5 100
V - 452 TOYOTA/HONDA/FORD/MAZDA ALUMINIUM 18 X 24 20 100
V - 450C TOYOTA COMPOSITE WASHER 12 X 20 20 100
V - 454 SUBARU ALUMINIUM 16 X 22 25 100
V - 453A COPPER CRUSH ( PATROL ) 16 X 22 0 100
V-DPM2227  FIAT 22X 27 20 100
V - DPRI8 “ O “ RING ASTRA/VECTRA MI8 X 15 25 100
V - 457 COMMODORE VT ALUMINIUM 24 X 30 5 100
V - 430 TOYOTA DRAIN PLUG WASHER 20 100

V - 441 V-442 | V-DPRIO | v-s444 |V-DPRI2 |V- 446
@ I O |

( 7| » ’ 4

V-u47 | V-1448 V-450B |V - 459 V - 452
o O O |

V-450C |V -454 V- 453A |V - DPM2227|V -DPRI8 V - 457

64




REPLACEMENT PACKS

ITEM CODE

V -SHM410
V -SHM416
V -SHM420
V -SHM425
V -SHM430
V -SHM450
V -SHM510
V -SHM516
V -SHM520
V -SHM530
V -SHM540
V -SHM550
V -SH-1ZP
V -SH-27P
V -SH-3ZP
V -SH-47P
V -SH-5ZP
V -SH-6ZP

SOCKET HEAD CAP SCREW M4 X 10
SOCKET HEAD CAP SCREW M4 X 16
SOCKET HEAD CAP SCREW M4 X 20
SOCKET HEAD CAP SCREW M4 X 25
SOCKET HEAD CAP SCREW M4 X 30
SOCKET HEAD CAP SCREW M4 X 50
SOCKET HEAD CAP SCREW M5 X 10
SOCKET HEAD CAP SCREW M5 X 16
SOCKET HEAD CAP SCREW M5 X 20
SOCKET HEAD CAP SCREW M5 X 30
SOCKET HEAD CAP SCREW M5 X 40
SOCKET HEAD CAP SCREW M5 X 50
SOCKET HEAD CAP SCREW M6 X 10
SOCKET HEAD CAP SCREW M6 X 16
SOCKET HEAD CAP SCREW M6 X 20
SOCKET HEAD CAP SCREW M6 X 30
SOCKET HEAD CAP SCREW M6 X 40
SOCKET HEAD CAP SCREW M6 X 50

25
25
25
25
25
25
25
25
25
25
25
25
25
25
25
20
15

15

100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100

Cag

V - SHM410

Cay,

V - SHM416

!..;m

V - SHM420

“'-‘ﬁ

V - SHM425

l..;*

V - SHM430

l..;*

V - SHM450

L;\

Cay,

!..;N

!..;N

{‘N

{‘N

V - SHM5I0 |V - SHMS516 [V - SHM520 [V - SHM530 [V - SHM540 | v _ SHM550
V-SHIZP |v-SH2zP [V-SH3ZP |V-SH4ZP |V -SHSZP | V -SH6ZP

65




¥ h 1 \I
= ! r‘ -
| V -1024 SOCKET HEAD CAP SCREW METRIC 12.9 KIT

REPLACEMENT PACKS

BT

‘t:-._:":"-'

- wE | L-H

ITEM CODE SIZE QrY BULK QTY
V - SHIZP SOCKET HD CAP SCREW M6 X 10 25 100
V - SH27P SOCKET HD CAP SCREW M6 X 16 25 100
V - SH3zZP SOCKET HD CAP SCREW M6 X 20 25 100
V - SH47ZP SOCKET HD CAP SCREW M6 X 30 20 100
V - SH5ZP SOCKET HD CAP SCREW M6 X 40 15 100
V - SH6ZP SOCKET HD CAP SCREW M6 X 50 15 100
V - SH7ZP SOCKET HD CAP SCREW M8 X 10 20 100
V - SH8ZP SOCKET HD CAP SCREW M8 X 16 20 100
V - SH9ZP SOCKET HD CAP SCREW M8 X 20 18 100
V - SHI0ZP SOCKET HD CAP SCREW M8 X 30 15 100
V - SHI1ZP SOCKET HD CAP SCREW M8 X 40 10 100
V - SH12ZP SOCKET HD CAP SCREW M8 X 50 9 100
V - SHI3ZP SOCKET HD CAP SCREW MIO X 20 10 100
V - SH14ZP SOCKET HD CAP SCREW MIO X 25 8 100
V - SHI5ZP SOCKET HD CAP SCREW MIO X 30 7 100
V - SH16ZP SOCKET HD CAP SCREW MIO X 35 6 100
V - SHI7ZP SOCKET HD CAP SCREW MIO X 40 6 100
V - SHI8ZP SOCKET HD CAP SCREW MIO X 50 5 100

V - SHIZP V - SH2zZP V - SH3ZP V-SH4ZP | V-SH5ZP | V-SH6ZP
® o= g = v v

V - SH7ZP V - SH87P V - SH9ZP V - SHIOZP V - SHIZP V - SHI2ZP

V - SHI3ZP V - SH14ZP V - SHI5ZP V - SH16ZP V - SHI7ZP V - SHI8ZP

66




REPLACEMENT PACKS

ZINC PLATED %

ITEM CODE SIZE BULK QTY
V - MSI 3/8 X 1 UNC HOLDEN HEADER BOLT 10 100
V - MS5 3/8 UNC BRASS NUT 10 100
V- MS2 3/8 X 2 UNC HOLDEN STUD 10 100
V - MS3 MIO0 X 54 X 1.25 VL COMMODORE 10 100
V - MS4 MIO X 50 STUD NISSAN 1.5 SHORT 1.25 LONG 20 100
V - MS7 7/16 X 2 3/8 UNC FORD STUD 10 100
V - MSTA 7/16 X 2 3/8 BRASS NUT 10 100
V - MS9 MIO X 54 X 1.5 FORD ESCORT STUD 10 100
V - MSIOA MIO X 40 X 1.25 TOYOTA STUD 10 100
V - MSIOB MIO X 1.25 BRASS NUT 10 100
V - MSI2 MIO X 40 X 1.5 MAZDA STUD 10 100
V - MSI8 MIO X 1.5 BRASS NUT 10 100
V - MSI3 M8 X 38 X 1.25 NISSAN STUD 12 100
V - MS15 M8 X 1.25 BRASS NUT 12 100
V - MS14 M8 X 50 X 1.25 NISSAN STUD 10 100
V - MS16CC M8 X 1.25 COPPER COAT LOCK NUT 10 100
V - MS8 7/16 UNC STEEL NUT ( FORD ) 10 100
V - MSé 3/8 UNC STEEL NUT 12 100
V - MST7CC MIO X 1.5 COPPER COAT LOCK NUT 10 100
V - MSTI MIO X 1.25 TOYOTA STEEL NUT 15 100
V-718 MIO X 1.25 FLANGE NUT 15 100
V - MS16 M8 X 1.25 NISSAN STEEL NUT 15 100
V-712 M8 X 1.25 FLANGE NUT 20 100
V - MST7 MIO X 1.25 MAZDA STEEL NUT 15 100
V-58 M8 X 1.5 FLANGE NUT 15 100
V - MSTICC MI0 X1X1.25 COPPER COAT LOCK NUT 10 100

NN

V - MS5 V - MS2 V-MS3 [V-MS4 V - MS7

NLINE

/

V-MS9 |[V-MSIOA |V-MSIOB |V -MSI2 V - MSI8

\| @ O

V-MSI3 [v- MélS V-MSI4 |V -MSI6CC | V-MS8 V-MS6 |V -MSI/ICC

V - MSII V-T18 V - MSI16 V-T2 V -MST17 V-58 V - MSIICC
o7




REPLACEMENT PACKS

V - 1026 VACCUM END CAP KIT M3-MI10 AVAILABLE IN KIT ONLY RUBBER

ITEM CODE
V - CVC44 VACCUM END CAP M3 25
V - CVC45 VACCUM END CAP M4 25
V- CVC46 VACCUM END CAP M5 25
V - CcveaT VACCUM END CAP M6 25
V- CVC48 VACCUM END CAP M8 25
V- CVC49 VACCUM END CAP MIO 25

AVAILABLE IN KIT ONLY

68



REPLACEMENT PACKS

COPPER
T —

V - 1030 COPPER WASHER KIT KIT

ITEM CODE SIZE QryY BULK QTY
V - CWCA4l COPPER WASHER M6 X 10 X 1 40 100
V - CWC42 COPPER WASHER M8 X 12 X 1 35 100
V - CWC43 COPPER WASHER M8 X 14 X 1 30 100
V - CWC44 COPPER WASHER MIO X 14 X 1 30 100
V - CWC45 COPPER WASHER MIO X 16 X 1 25 50
V - CWC46 COPPER WASHER MI12 X 16 X 1.5 20 50
V - CWC47 COPPER WASHER M12 X 18 X 1.5 15 50
V - CWC49 COPPER WASHER M14 X 20 X 1.5 15 50
V - CWC5I COPPER WASHER M16 X 22 X 1.5 12 50
V - CWC52 COPPER WASHER M18 X 24 X 1.5 10 50
V - CWC53 COPPER WASHER M20 X 26 X 1.5 10 50
V - CWC54 COPPER WASHER M26 X 31X 2 7 50

V - CWC41 V - CWC42 V - CWC43 V - CWC44 V - CWC45 V - CWC46
V - CWC47 V - CWC49 V - CWC5I V - CWC52 V - CWC53 V - CWC54

69




REPLACEMENT PACKS

ITEM CODE SIZE
V - RCLI R CLIP 1/8 X 3/16 25
V - RCL2 RCLIP 3/16 X1/4 25
V - RCL4 RCLIP 1/4 X 3/8 20
V -RCL5 R CLIP 5/16 X 1/2 17
V - RCL6 RCLIP 3/8 X1/2 15
V - RCL8 RCLIP 7/16 X 3/4 10
V - RCLIO RCLIP 5/8 X7/8 10
V - RCLI2 RCLIP 3/4 X1 7

V - RCL2 V - RCL4

V -RCL6 V - RCLIO

V - RCLI2

70



REPLACEMENT PACKS

ITEM CODE QryY BULK QTY

V - C540-10 SELF TAP PAN 10G X 3/4 100 200
V - C540-13 SELF TAP PAN 10G X 1/2 100 200
V - C540-7 SELF TAP PAN 8G X 1 100 200
V - STPBIOI SELF TAP PAN10G X 1 100 200
V - STPBI212 SELF TAP PAN 12G X 1/2 100 200
V - PANI4SHB SMALL HEAD BOLT PAN M6 X 20 100 200
V - PANI9SHB SMALL HEAD BOLT PAN M6 X 16 100 200
V - PAN2ISHB SMALL HEAD BOLT PAN M6 X 12 100 200
V - PAN8SHB SMALL HEAD BOLT PAN M5 X 16 100 200
V - PAN9SHB SMALL HEAD BOLT PAN M5 X 20 100 200
V - PAN14 PAN METAL THREAD Mé X 20 100 200
V - PANI9 PAN METAL THREAD M6 X 16 100 200

~N A

V - C540-10 V - C540-13 V - C540-7 V - STPBIO1 V - STPBI212 V - PANI4SHB

A ININ

V - PANI9SHB |V - PAN2ISHB |V - PAN8SH V - PAN9SHB |V - PANI4 V- PANI9

71



REPLACEMENT PACKS

V -1035-“ O “ RING KIT

ITEM CODE SIZE QrY BULK QTY

V - COR202 “O” RING M5 X 2 100 500

V - COR203 “O” RING M6 X 2 100 500

V - COR204 “O” RING M7 X 2 100 500

V - COR205 “O” RING M8 X 2 100 500

V - COR206 “O” RING M9 X 2 100 500

V - COR207 “O” RING MIO X 2 100 500

V - COR209 “O” RING Ml X 25 100 500

V - COR2I2 “O” RING MI3 X 25 100 500

V - COR2I3 “O” RING M4 X 25 100 500

V - COR2I5 “O” RING M6 X 2.5 75 250

V - COR216 “O” RING MI7 X 25 75 250

V - COR219 “O” RING MI9 X 2.5 75 250

V - COR221 “O” RING M20 X 35 40 250

V - COR224 “O” RING M22 X 35 40 250

V - COR225 “O” RING M23 X 35 25 250

V - COR226 “O” RING M25 X 35 25 250

V - COR227 “O” RING M27 X 35 25 250

V - COR229 “O” RING M30 X 35 20 250

ol ol 0o O O O

V - COR202 | V - COR203 |V - COR204 V - COR205 |V - COR206 V - COR207
V - COR209 |V - COR212 |V -COR2I13 |V -COR2I5 |V -COR216 |V - COR2I9
V - COR221 |V - COR224 |V - COR225 |V - COR226 |v cOR227 |V - COR229




V -1036 -

-

REPLACEMENT PACKS

NUTS
—

ITEM CODE

V - NSRLM4

V - TIAAC-00430
V - TIAAF-00430
V - NRSLM5

V - TIAAC-00530
V - TIAAF-00530
V - NSRLMé6

V - TIACC-00630
V - TIAAF-00630
V - NSRLM8

V - TIACC-00830
V - TIAAF-00830
V - NRSLMIO

V - TIAAC-001030
V - TIAAF-00130
V - NSRLMI12

SIZE

QryY

NUTSERT M4 RIBBED 25
NUTSERT M4 LOW PROFILE 25
NUTSERT M4 FLANGED 25
NUTSERT M5 RIBBED 20
NUTSERT M5 LOW PROFILE 20
NUTSERT M5 FLANGED 20
NUTSERT Mé6 RIBBED 15
NUTSERT M6 LOW PROFILE 15
NUTSERT Mé6 FLANGED 15
NUTSERT M8 RIBBED 12
NUTSERT M8 LOW PROFILE 12
NUTSERT M8 FLANGED 12
NUTSERT MIO RIBBED 9
NUTSERT MI0 LOW PROFILE 9
NUTSERT MIO FLANGED 9
NUTSERT M12 RIBBED 10

S TSR TN

BULK QTY

70
70
70
70
70
70
50
50
50
50
50
50
50
50
50
50

O

V - NSRLM4

O

v

V - TIACC-00430

s

V - TIAAF-00430

V - NRSLM5

vid

V - TIAACO0530

L

V - TIAAFO0530

V - TIACCO0630

L

V - TIAAFO0630

U

V - NSRLM8

V - TIACCO0830

V - TIAAFO0830

V - NRSLMIO

L2

V - TIAACO01030

V - TIAAFO0130

V - NSRLMI12

73



REPLACEMENT PACKS

- "~ —t r
V -1036SS- STAINLESS STEEL NURSERT KIT M4 - M12 STAINLESS STEEL

ITEM CODE SIZE QryY BULK QTY
V - TISSCO0430 STAINLESS STEEL NUTSERT M4 LOW PROFILE 25 70
V - TISSFO0430 STAINLESS STEEL NUTSERT M4 FLANGED 25 70
V - SSNSRLM5 STAINLESS STEEL NUTSERT M5 BRIBBED 20 70
V - TISSCO0530 STAINLESS STEEL NUTSERT M5 LOW PROFILE 20 70
V - TISSFO0530 STAINLESS STEEL NUTSERT M5 FLANGED 20 70
V - SSNSRLM6 STAINLESS STEEL NUTSERT Mé RIBBED 15 70
V - TISSCO0630 STAINLESS STEEL NUTSERT M6 LOW PROFILE 15 50
V - TISSFO0630 STAINLESS STEEL NUTSERT M6 FLANGED 15 50
V - SSNSRLM8 STAINLESS STEEL NUTSERT M8 RIBBED 12 50
V - TISSCO0830 STAINLESS STEEL NUTSERT M8 LOW PROFILE 12 50
V - TISSFO0830 STAINLESS STEEL NUTSERT M8 FLANGED 12 50
V - TISSCO1030 STAINLESS STEEL NUTSERT MI0 LOW PROFILE 9 50
V - TISSFO1030 STAINLESS STEEL NUTSERT MI10 FLANGED 9 50
V - TISSFO1230 STAINLESS STEEL NUTSERT M12 FLANGED 10 50

R SCSPI7

V - TISSCO0430 | V - TISSFOO430 | V - SSNSRLM5 |V - TISSCO0530 |V - TISSFOO530 V - SSNSRLM6

i % S SHEH

o

V - TISSCO0630 |V - TISSFO0630 |V - SSNSRLM8 V - TISSCO0830 | V - TISSFO0830 | V - TISSCO1030

- TISSFOI030 | V - TISSFOI230

74



REPLACEMENT PACKS

V -1037 - GROMMET KIT WIRING AND BLANKING RUBBER

250 peice kit
ITEM CODE SIZE Qry BULK QTY
V - CWGI WIRING GROMMET 1/8 X 9/32 X 7/16 20 100
V- CWG2 WIRING GROMMET 3/16 X 5/15 X 7/16 20 100
V- CWG3 WIRING GROMMET 1/4 X 1/2 X 9/16 15 100
V - CWG4 WIRING GROMMET 5/16 X 17/32 X 3/4 10 100
V - CWG5H WIRING GROMMET 3/8 X 1/2 X 11/16 15 100
V - CWG6 WIRING GROMMET 3/8 X 9/16 X 11/2 15 100
V - CWG7 WIRING GROMMET 3/8 X 3/4 X 1 12 50
V - CWG8 WIRING GROMMET 7/16 X 3/4 X 1 10 50
V - CWG9 WIRING GROMMET 1/2 X 2 1/2 X 13/16 10 50
V - CWGIO WIRING GROMMET 5/8 X1X11/8 8 50
V - CBGI BLANKING GROMMET 5/16 25 100
V - CBG2 BLANKING GROMMET 3/8 20 100
V - CBG3 BLANKING GROMMET 1/2 17 100
V - CBG4 BLANKING GROMMET 5/8 15 100
V - CBG5 BLANKING GROMMET 3/4 12 50
V - CBG6 BLANKING GROMMET 7/8 10 50
V - CBG7 BLANKING GROMMET 1 8 50
V - CBG8 BLANKING GROMMET 11/8 6 50

V - CWGI V- CWG2 V- CWG3 V - CWG4 V - CWG5 V - CWG6

V - CWG9 V - CWGIO V - CBGI V - CBG2

V - CBG3 V - CBG4 V - CBG5 V - CBG6 V - CBG7 V - CBG8

75



REPLACEMENT PACKS

ITEM CODE

V - AQF18
V - AQF316
V - AQF14
V - AQF516
V - AQF38
V - AQF12
V - AQFM4
V - AQFM6
V - AQFM8
V - AQFMIO
V - AQFMI12
V - AQFMI16

SIZE & DESCRIPTION

AIR QUICK FIT JOINER 1/8
AIR QUICK FIT JOINER 1/16
AIR QUICK FIT JOINER 1/4
AIR QUICK FIT JOINER 1/16
AIR QUICK FIT JOINER 3/8
AIR QUICK FIT JOINER 1/2
AR QUICK FIT JOINER M4
AR QUICK FIT JOINER M6
AIR QUICK FIT JOINER M8
AR QUICK FIT JOINER MIO
AIR QUICK FIT JOINER M12
AR QUICK FIT JOINER M16

NN OTOTLOTOTND 0101 0101 Ol

PLASTIC

76

o o @ o P P
V-AQFI8 |V-AQF316 |V-AQFI4 |V -AQF516 |V -AQF38 |V -AQFI12
'-u."
: N | oM q'ﬂ--ﬂ)“ﬂq )
o |0 1®® ' '@
V- AQFM4 [V - AQFM6 IV - AQFM8 |V - AQFMIO |V - AQFMI2 | V - AQFMI6




REPLACEMENT PACKS

ITEM CODE SIZE QryY BULK QTY
V - FHB616 FLANGE HEAD BOLT M6 X 16 25 100
V - FHB620 FLANGE HEAD BOLT M6 X 20 25 200
V - FHB625 FLANGE HEAD BOLT M6 X 25 22 200
V - FHB630 FLANGE HEAD BOLT M6 X 30 20 100
V - FHB640 FLANGE HEAD BOLT Mé X 40 15 100
V -706 FLANGE HEAD NUT Mé 60 200
V - FHB816 FLANGE HEAD BOLT M8 X 16 15 100
V - FHB820 FLANGE HEAD BOLT M8 X 20 15 100
V - FHB825 FLANGE HEAD BOLT M8 X 25 12 100
V - FHB830 FLANGE HEAD BOLT M8 X 30 12 100
V - FHB840 FLANGE HEAD BOLT M8 X 40 10 100
V-T2 FLANGE HEAD NUT M8 40 100
V - FHB850 FLANGE HEAD BOLT M8 X 50 9 100
V - FHB1025 FLANGE HEAD BOLT MIO X 25 9 100
V - FHB1035 FLANGE HEAD BOLT MIO X 35 8 100
V - FHB1040 FLANGE HEAD BOLT MIO X 40 7 100
V - FHB1050 FLANGE HEAD BOLT MIO X 50 5 100
V-T718 FLANGE HEAD NUT MIO 25 100

v 0 &
V - FHBGI6 V-EHB620 |V - FHB625 V-FHB630 |V - FHR64O V - 706
r " P [ : \
il | *r'r;ﬂ' L - .‘W P
L < -
V - FHB816 V-FHB820 |V - FHB825 V - FHB830 V - FHB840
.‘.*ﬂ#:'"ﬁ -b"ﬂ':""::" ""-n'-'-"‘-:::-:;' 'hﬂ#ﬂﬁ 'hﬂ#f‘"ﬁ
- - - - -
V -FHB850 |V - FHBIO25 V - FHBIO35 |V - FHBIO4O |V - FHRIOS0

77




REPLACEMENT PACKS

T

78

ITEM CODE SIZE & DESCRIPTION Qry

V - HBFM740 HEX BOLT M7 X 40 1.0 FINE 10

V - HBFM820 HEX BOLT M8 X 20 1.0 FIINE 10

V - HBFM825 HEX BOLT M8 X 25 1.0 FINE 10

V - HBFM835 HEX BOLT M8 X 35 1.0 FINE 10

V - HBFM840 HEX NUT M8 X 1.0 FINE 10

V - HNFM8 HEX NUT M7 X 1.0 FINE 50

V - HNFM7 HEX BOLT MIO X 20 1.0 FINE 10

V - HBFMI1022 HEX BOLT MIO X 20 1.0 FINE 10

V - HBFMI03010 HEX BOLT MIO X 30 1.0 FINE 10

V - HBFMI04010 HEX BOLT MIO X 40 1.0 FINE 10

V - HBFMI050 HEX BOLT MIO X 50 1.0 FINE 8

V - HNFMIO HEX NUT MI0 X 1.0 FINE 25

V - HBMF12301.25 HEX BOLT MI2 X 30 1.25 FINE 7

V - HBMF12501.25 HEX BOLT MI2 X 50 1.25 FINE 7

V - HNMF12125 HEX NUT M12 X 1.25 FINE 12

V - HBMF12301.5 HEX BOLT MI2 X 30 1.5 FINE 5

V - HBMF12501.5 HEX BOLT MI2 X 50 1.5 FINE 5

V - HNMF12150 HEX NUT MI2 X 1.5 FINE 10
V - HBFM740 | V - HBFM820 | V - HBFM825 |v - HRFM835 |V - HBFMBAO [V - HNFM8
V - HNFM7 V - HBFMIO22 ) - HBFM1022 |V -HBFMIO30I10 |V - HRFMI04010| V - HBFMIO50
V - HNFMIO |V - HBMFI2301.25 V¥ - HBMFI2501.25 |\ _ UNMFI2125 IV - HBMFI25015 IV - HNMFI12150




ITEM CODE

V - FHB616
V - FHB620
V - FHB625
V - FHB630
V - FHB640
V -706

V - FHB816
V - FHB820
V - FHB825
V - FHB830
V - FHB840
V-T2

V - FHB850
V - FHB1020
V - FHB1030
V - FHB1040
V - FHB1050
V -58

.

.--'—-.‘

SIZE

FLANGE HEAD BOLT M6 X 16
FLANGE HEAD BOLT M6 X 20
FLANGE HEAD BOLT M6 X 25
FLANGE HEAD BOLT M6 X 30
FLANGE HEAD BOLT M6 X 40
FLANGE HEAD NUT M6
FLANGE HEAD BOLT M8 X 16
FLANGE HEAD BOLT M8 X 20
FLANGE HEAD BOLT M8 X 25
FLANGE HEAD BOLT M8 X 30
FLANGE HEAD BOLT M8 X 40
FLANGE HEAD NUT M8
FLANGE HEAD BOLT M8 X 50

FLANGE HEAD BOLT MIO X 20

FLANGE HEAD BOLT MIO X 30

FLANGE HEAD BOLT MMIO X 40

FLANGE HEAD BOLT MIO X 50
FLANGE HEAD NUT MIO

QryY

REPLACEMENT PACKS

BULK QTY

25
25
22
20
15
60
15
15
12
12
10
40

N U1l 00 0 O

(@)

100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100

V - FHB616 V - EHR620 V - FHB625 V - FHB630 V - FHB640 V -706
i . i . P . | i \
O T T 1 b ,' .
[ - [ - -

V- F|'1|t816 V - FI'ESQO V - FHB825 V - FHB830 V - FHB840

® N #ﬂﬂﬁ \ﬁ » A\ #.__.,-:'__'ﬂ::: - \ ﬂ#::rﬁ b N #ﬂﬂﬁ .

- - - - -
V - FHB850 V - FHB1020 V - FHB1030 |V - FHBIO40 V - FHBIO50

79




REPLACEMENT PACKS

k.
V - 1040 - GREASE NIPPLE KIT
-
(111 148
A
ITEM CODE SIZE & DESCRIPTION QTY BULK QTY
V - GNI GREASE NIPPLE 1/4 BSF 10 50
V - GN2 GREASE NIPPLE 1/4 UNF 12 50
V - GN3 GREASE NIPPLE 1/4 BSF 67.5 10 50
V - GN4 GREASE NIPPLE 5/16 BSF STR 7 50
V - GN5 GREASE NIPPLE M8 X 1.25 5 50
V - GNé6 GREASE NIPPLE 5/16 BSF 67.5 5 50
V - GN7 GREASE NIPPLE 1/8 BSP STR 8 50
V - GN8 GREASE NIPPLE 1/8 NPT 67.5 5 50
V - GN9Q GREASE NIPPLE 1/4 BSP STR 6 50
V - GNIO GREASE NIPPLE M10 X 1.0 STR 10 50
V - GNI1I GREASE NIPPLE M8 X 1.0 STR 8 50
V - GNI2 GREASE NIPPLE M6 SELF TAP 5 50
V - GNI13 GREASE NIPPLE M6 X 1.0/45 5 50
V - GNl14 GREASE NIPPLE M8 X 1.0 /45 5 50
V - GNI5 GREASE NIPPLE M10 X 1.0 STR 8 50
V - GNI16 GREASE NIPPLE MIO X 1.0/45 5 50
V - GNI7 GREASE NIPPLE 1/8 BSP 45 6 50
V - GNI8 GREASE NIPPLE 1/4 UNF 45 6 50
T | o
V-GNl | V-GN2
B vl
V - GN7 V - GN8
V - GNI13 V - GN14




REPLACEMENT PACKS

ITEM CODE SIZE & DESCRIPTION QryY BULK QTY

V - DWI DOWTY WASHER 1/8 10 25
V - DW2 DOWTY WASHER 1/4 BSP 7 25
V - DW3 DOWTY WASHER 3/8 7 25
V - DW4 DOWTY WASHER 1/2 BSP 6 25
V - DW5 DOWTY WASHER 5/8 BSP 5 25
V - DW6 DOWTY WASHER 3/4 4 25
V - DW9 DOWTY WASHER M8 9 25
V - DWIO DOWTY WASHER MIO 8 25
V - DWII DOWTY WASHER M12 6 25
V - DWI2 DOWTY WASHER Mi4 6 25
V - DWI2A DOWTY WASHER M16 5 25
V - DWI13 DOWTY WASHER M18 5 25
V - DW14 DOWTY WASHER M20 5 25
V - DWI5 DOWTY WASHER M22 4 25
V - DW16 DOWTY WASHER M26 4 25
V - DWI7 DOWTY WASHER M27 3 25
V - DWI8 DOWTY WASHER M28 3 25
V - DWI9 DOWTY WASHER M30 3 25
V - DW20 DOWTY WASHER M33 2 25
V - DW21 DOWTY WASHER M42 2 25

V - DWI V - DW2 V - DW3 V - DW4 V - DW5 V - DW6

V - DW9 V - DWIO V - DWI1I V - DWI2 V - DWI2A V -DWI13

V - DWi4 V - DWI15 V - DW16 V - DW17 V - DWI8 V - DWI19
V - DW20 V - DW2I



REPLACEMENT PACKS

V - 1042 - AIR CONDITIONER “O” RING KIT

RUBBER

ITEM CODE SIZE & DESCRIPTION

V - ACOI AIR CON “O” RING SANDEN TR SUCTION 10

V - ACO2 AIR CON “O” RING SANDEN TR SUCTION 10

V - ACO3 AIR CON “O” RING-N/DENSO CAMRY WB#8 10

V - ACO4 AIR CON “O” RING TX VALVE 5

V - ACO5 AIR CON “O” RING DENSO 21

V - ACO6 AIR CON “O” RING UNIVERSAL #6 21

V - ACO7 AIR CON “O” RING CAMRY/WB 5/8 10

V - ACO8 AIR CON “O” RING UNIVERSAL #8 20

V - ACO9 AIR CON “O” RING-N DENSO CAMRY 1/2 10

V - ACOIO AIR CON “O” RING DENSO UNIVERSAL 20

V - ACOIl AIR CON “O” RING-EA FALCON TX VALVE 10

V - ACO12 AIR CON “O” RING UNIVERSAL #12 20

V - ACO13 AIR CON “O” RING EA-ED FALCON TX VALVE 10

V - ACO14 AIR CON “O” RING EA-ED FALCON CONDENSER 10

O QO © e |0 O

V - ACOOI1 V- ACO02 [V -ACO03 V-ACO04 [V -ACO05 VN -ACO06
V - ACOO7 [V -ACO08 |V -ACO09 [V-ACOIO |V -ACOIl V - ACOI2
V - ACO13 V - ACOl4

82




REPLACEMENT PACKS

V -1043 - GRUB SCREWS KIT

ITEM CODE SIZE & DESCRIPTION
V - GSM45COP GRUB SCREW M4 X 6 50
V - GSM55COP GRUB SCREW M5 X 5 50
V - GSM5I0COP GRUB SCREW M5 X 10 50
V - GSM66COP GRUB SCREW M6 X 6 50
V - GSM612COP GRUB SCREW M6 X 12 50
V - GSM88COP GRUB SCREW M8 X 8 50
V - GSM816COP GRUB SCREW M8 X 16 50
V - GSMI012COP GRUB SCREW MIO X 12 50
V - GSM1025COP GRUB SCREW MIO X 25 40
V - GSNCI814CUP GRUB SCREW 1/8 X 1/4 50
V - GSNC316316CUP GRUB SCREW 3/16 X 3/16 50
V - GSNC31638CUP GRUB SCREW 3/16 X 3/8 50
V - GSNC1414CUP GRUB SCREW 1/4 X 1/4 50
V - GSNC1412CUP GRUB SCREW 1/4 X 1/2 50
V - GS51656CUP GRUB SCREW 5/16 X 5/16 50
V - GSNC51658CUP GRUB SCREW 5/16 X 5/8 50
V - GSNC3858CUP GRUB SCREW 3/8 X 5/8 50
V - GSNC38ICUP GRUB SCREW 3/8 X 1 40

V - GSM45COP |V - GSM55COP [V - GSM5I0COP [V - GSM66COP V - GSM612COP [V - GSM88COP
V - GSMB8I6COP |V - GSMIOI2COP | V - GSMI025COP |V - GSNCIBI4CUP |V - GSNC316316CUP| V - GSNC31638CUP

g

' o

o

® s

V - GSNCI1414CUP

V - GSNC1412CUP

V - GS516516CUP

V - GSNC51658CUP

V - GSNC3858CUP

V - GSNC38ICUP

83



REPLACEMENT PACKS

V - 1044 PIPE RETAINING CLAMP

ITEM CODE

V-RSGUI-6/15-1
V-RSGUI-9/15-1
V-RSGUI-10/15-1
V-RSGUI-10/15-1
V-RSGUI-13/15-1
V-RSGUI-16/15-1
V-RSGUI-19/15-1
V-RSGUI-22/15-1
V-RSGUI-27/15-1
V-RSGUI-27/15-1
V-RSGUI-32/15-1
V-RSGUI-32/15-1

SIZE & DESCRIPTION

PIPE CLAMP-6X15

PIPE CLAMP-9X15X6
PIPE CLAMP - 10X15X6
PIPE CLAMP - 10X15X6
PIPE CLAMP - 13X15X6
PIPE CLAMP - 16X15X6
PIPE CLAMP - 19X15X6
PIPE CLAMP - 22X15X6
PIPE CLAMP - 27X15X6
PIPE CLAMP - 27X15X6
PIPE CLAMP - 32X15X6
PIPE CLAMP - 32X15X6

QryY

PP P> P> OO OO O 0 0 0 o

84

o3




REPLACEMENT PACKS

ol SO W | ™

- 1048 - METRIC COARSE BOLT/ NUT KIT M8 - Mi12 STEEL / ZINC PLATED B..

]

‘:Y

ITEM CODE SIZE & DESCRIPTION
vV -709 HEX BOLT M8 X 30 8.8 -1.25 25
V-T0 HEX BOLT M8 X 40 8.8 -1.25 25
V -T707A HEX NUT M8 X 1.25 50
V-T2 FLANGE NUT M8 X 1.25 40
V - HBMC1020 HEX BOLT MIO X 20 8.8 - 15 25
V - HBMCI1030 HEX BOLT MIO X 30 8.8 - 1.5 20
V - HBCMI040 HEX BOLT MIO X 40 8.8 - 1.5 17
V - HBMCI1065 HEX BOLT MIO X 65 8.8 - 15 12
V - HNMCI015 HEX NUT MI10 X 1.5 30
V -58 FLANGE NUT MIO X 1.5 20
V - HBMCI1225 HEX BOLT M12 X 25 8.8 -1.75 12
V - HBMCI1250 HEX BOLT M12 X 50 8.8 - 1.75 10
V - HBMCI1275 HEX BOLT M12 X 75 8.8 - 1.75 8
V - HBMCI12175 HEX BOLT M12 X 1.75 8.8 - 1.75 25

—_—— g e v =

V - 709 V-710 V-707TA |V-T12 V - HBMCIO020| V - HBMCI030

—— P @ §® ¢

V - HBMCIO40{V -HBMCI065 V - 58 V - HNMCIO058|V - HBMC1225 |V - HBMCI1250

—_—

V - HBMCI1275 |V - HBMCI12175

85



REPLACEMENT PACKS

\%

ITEM CODE SIZE
V - HBMC1225 HEX BOLT METRIC COARSE M12 X 25 15
V - HBMCI1250 HEX BOLT METRIC COARSE Mi2 X 50 10
V - HBMCI275 HEX BOLT METRIC COARSE MI2 X 75 8
V - HNNYMI2175 NYLOC NUT MI2 X 1.75 30
V - HBMC1425 HEX BOLT METRIC COARSE Mi4 X 25 9
V - HBMC1450 HEX BOLT METRIC COARSE Mi4 X 50 8
V - HBMC1470 HEX BOLT METRIC COARSE Mi4 X 70 6
V - HNNYM1420 NYLOC NUT M14 X 2.0 24
V - HBMCI1625 HEX BOLT METRIC COARSE M16 X 25 7
V - HBMCI1650 HEX BOLT METRIC COARSE Mi6 X 50 5
V - HBMCI1670 HEX BOLT METRIC COARSE M16 X 70 4

V - HNNYM1620 NYLOC NUT METRIC COARSE M16 X 2.0

o

o= O = o

i
V - HBMCI1225 [V - HBMCI250 | V - HBMCI1275 [V - HNNYMI275| V - HBMCI1425| V - HBMCI450

.

V - HBMCI470 |V - HNNYM1420 V - HBMC1625 | V - HBMCI1650 |V - HBMC1670 |V - HNNYMI1620

86



V - 1048FINE

- METRIC FINE BOLT/NUT KIT M

REPLACEMENT PACKS

ITEM CODE

V - HBMF123015
V - HBMF125015

V - HBMF1230125

V - HNMF12150

V - HNNYMF12125

V - FLNMF12125
V - HBMF1425
V - HBMF1450
V - HBMF1470

V - HNNYMF1415

V - HBMF1625
V - HBMF1650
V - HBMF1670

V - HNNYMF1615

SIZE

HEX BOLT METRIC FINE M12 X 30 8.8 - 1.5
HEX BOLT METRIC FINE MI2 X 50 8.8 - 1.5
HEX BOLT METRIC FINE Mi12 X 30 8.8 - 1.25
HEX NUT METRIC FINE M12 X 1.5

HEX NYLOC NUT METRIC FINE M12 X 1.25
FLANGE NUT METRIC FINE M12 X 1.25
HEX BOLT METRIC FINE Mi14 X 25 8.8 - 1.5
HEX BOLT METRIC FINE Mi14 X 50 8.8 - 1.5
HEX BOLT METRIC FINE M14 X 70 8.8 - 1.5
HEX NYLOC NUT METRIC FINE M14 X 1.5
HEX BOLT METRIC FINE M16 X 25 8.8 - 1.5
HEX BOLT METRIC FINE M16 X 50 8.8 - 1.5
HEX BOLT METRIC FINE M16 X 70 8.8 - 1.5
HEX NY LOCK NUT METRIC FINE M16 X 1.5

S OITd DN OO

>

% \/g_ |& % Q
) V - HN-
V - HBMF123015 | HBMFI25015 Vl EMEI230D25 V-HNMFI2ISO |\y\rrops [V -FLNMFI2I2S
V - HBMF1450 M
V-HBMF1425 = V - HBMF1470 | NYMF1415 V - HBMFI625 | v _ HBMF1650
% V-g-
V -HBMFI6TO | \yMFI6LS

87




REPLACEMENT PACKS

I
|

{

J

V - 1049 - SPACER KIT
a’ - ]

ITEM CODE

V - BS7
V - BSII
V - BSI

V - BS2
V - BS8
V - BS3
V - BS4
V - BS5
V - BS6

| " S e 1

_‘\m,l'l'!"1+

SIZE

SPACER M6 X 4.65 ( 20MM OD )
SPACER M6 X 7.75 (16MM OD )
SPACER M8 X 4.65 ( 20MM OD )
SPACER M8 X 7 ( 20MM OD )
SPACER M8 X 3X (20MM OD )
SPACER MIO X 4.65 ( 20MM OD )
SPACER MIO X 7 (20MM OD )
SPACER MI12 X 4.65 (20MM OD )
SPACER MI12 X 7 ( 20MM OD )

THIN
THICK
THIN
THICK

THIN
THICK
THIN
THICK

-

16
16
16
16
16
16
16
16
16

88

V - BS7

V - BSII

V - BSI

V - BS3

V - BS4

V - BS5




REPLACEMENT PACKS

S———
| "l

V -1051 CLEVIS PIN KIT STEEL ‘
S48 44
o o — -

] ﬁ-

 SIZE&DESCRPTON QY

CLEVIS PIN 5/16
CLEVIS PIN 3/8 X 1-1/8
CLEVIS PIN 5/16 X 1
CLEVIS PIN 5/16 X 15/16
CLEVIS PIN 1/4 X1
CLEVIS PIN 3/8 X 1
CLEVIS PIN 3/8 X 2
CLEVIS PIN 7/16 X 1-1/2
CLEVIS PIN 5/16 X 1-1/4

PP PO®XO®O®PE D

AVAILABLE IN KIT ONLY

V - 1053 SPN EXTERNAL LOCK RING KIT

SIZE & DESCRIPTION

SUITS SHAFT 4MM 100
SUITS SHAFT 5MM 100
SUITS SHAFT 6MM 100
SUITS SHAFT 1.5MM 100
SUITS SHAFT 2MM 100
SUITS SHAFT 2.4MM 100
SUITS SHAFT 3MM 100
SUITS SHAFT 8MM 50

SUITS SHAFT 10MM 50

SUITS SHAFT 12MM 25

AVAILABLE IN KIT ONLY
89



REPLACEMENT PACKS

- 1056 METRIC CIRCLIP KIT %’
SIZE & DESCRIPTION Qry
CIRCLIP 16MM EXT 10
CIRCLIP 20MM EXT 5
CIRCLIP 22MM EXT 5
CIRCLIP 25MM EXT 5
CIRCLIP 6MM EXT 20
CIRCLIP 8MM EXT 20
CIRCLIP 1OMM EXT 20
CIRCLIP 12MM EXT 20
CIRCLIP 14MM EXT 20
CIRCLIP 12MM INT 10
CIRCLIP 16MM INT 5
CIRCLIP 20MM INT 5
CIRCLIP 22MM INT 5
CIRCLIP 25MM INT 5

AVAILABLE IN KIT ONLY

90



REPLACEMENT PACKS

<« NI C
V - 1057 E CLIP & RETAINER SPRING KIT

~

SIZE & DESCRIPTION
RETAINER SPRING 11/64 SHAFT 50
RETAINER SPRING 7/32 SHAFT 50
RETAINER SPRING 19/64 SHAFT 50
RETAINER SPRING 17/32 SHAFT 50
‘E’ CLIP 3/32 SHAFT 50
‘E’ CLIP 1/8 SHAFT 50
‘E’ CLIP 5/32 SHAFT 50
‘E’ CLIP 3/16 SHAFT 50
‘E’ CLIP 1/44 SHAFT 100
‘E’ CLIP 5/16 SHAFT 50
‘E’ CLIP 3/8 SHAFT 100
‘E’ CLIP 7/16 SHAFT 30
‘E’ CLIP 1/2 SHAFT 50
‘E’ CLIP 5/8 SHAFT 10

AVAILABLE IN KIT ONLY

9l



REPLACEMENT PACKS

S A ¥ |

V - 1061 MS METRIC ROLL PIN KIT

SIZE & DESCRIPTION

METRIC ROLL PIN 2 X 12MM 20
METRIC ROLL PIN 2 X 20MM 20
METRIC ROLL PIN 2 X 25MM 20
METRIC ROLL PIN 2.5 X 12MM 20
METRIC ROLL PIN 2.5 X 16MM 20
METRIC ROLL PIN 2.5 X 20MM 20
METRIC ROLL PIN 2.5 X 25MM 20
METRIC ROLL PIN 3 X 16MM 20
METRIC ROLL PIN 3 X 20MM 20
METRIC ROLL PIN 3 X 25MM 20
METRIC ROLL PIN 4 X 16MM 20
METRIC ROLL PIN 4 X 20MM 20
METRIC ROLL PIN 4 X 25MM 20
METRIC ROLL PIN 5 X 20MM 20
METRIC ROLL PIN 5 X 25MM 20
METRIC ROLL PIN 6 X 20MM 20
METRIC ROLL PIN 6 X 25MM 20
METRIC ROLL PIN 6 X 30MM 20

AVAILABLE IN KIT ONLY

92



REPLACEMENT PACKS

V - 1063 MULTIFIT ALIGNMENT SHIM KIT

SIZE & DESCRIPTION Qry
MULTIFIT ALIGNMENT SHIMS 14 X MM 10
MULTIFIT ALIGNMENT SHIMS TWO WAY SUITS 15MM 10
MULTIFIT ALIGNMENT SHIMS TWO WAY SUITS 3MM 10
MULTIFIT ALIGNMENT SHIMS 10 X MM 5
MULTIFIT ALIGNMENT SHIMS 10 X 2MM 5
MULTIFIT ALIGNMENT SHIMS 10 X 3MM 5
MULTIFIT ALIGNMENT SHIMS 14 X 2MM 15
MULTIFIT ALIGNMENT SHIMS 14 X 3MM 10
MULTIFIT ALIGNMENT SHIMS 12 X 3MM 10
MULTIFIT ALIGNMENT SHIMS 12 X MM 10
MULTIFIT ALIGNMENT SHIMS 12 X 2MM 10

AVAILABLE IN KIT ONLY

93



REPLACEMENT PACKS

J :‘;}J _..-"r'! ;‘}f? ..i'; ;"’f ;’f

V - 1064~ ELECRTICAL CABLE LUG KIT

> = T L
r I'i_';-_plil---'-h_ .. : = — . ﬁ ; e ; 4 r
ITEM CODE SIZE QryY BULK QTY
V - CLI0-6 CABLE LUG 10MM X 6MM HOLE 5 50
V - CLIO-8 CABLE LUG 10MM X 8MM HOLE 5 50
V - CLI0-10 CABLE LUG 10MM X 1OMM HOLE 5 50
V - CL16-6 CABLE LUG 16MM X 6MM HOLE 5 50
V - CL16-8 CABLE LUG 16MM X 8MM HOLE 5 50
V - CLI6-10 CABLE LUG 16MM X 10MM HOLE 5 50
V - CL25-6 CABLE LUG 25MM X 6MM HOLE 5 50
V - CL25-8 CABLE LUG 25MM X 8MM HOLE 5 50
V - CL25-10 CABLE LUG 25MM X 10OMM HOLE 5 50
V - CL25-12 CABLE LUG 25MM X 12MM HOLE 5 50
V - CL35-6 CABLE LUG 35MM X 6MM HOLE 5 50
V - CL35-8 CABLE LUG 35MM X 8MM HOLE 5 50
V - CL35-10 CABLE LUG 35MM X 10MM HOLE 5 50
V - CL50-8 CABLE LUG 50MM X 8MM HOLE 5 50
V - CL50-10 CABLE LUG 50MM X 10MM HOLE 5 50
V - CL50-12 CABLE LUG 50MM X 12MM HOLE 5 50
V - CL70-8 CABLE LUG 70MM X 8MM HOLE 5 50
V - CL70-10 CABLE LUG 70MM X 10MM HOLE 5 50
= - | =0 == =0 =D
V - CLI0-6 V - CLI0-8 V-CLIO-I0 |V -CL6-6 V - CLi6-8 V - CL16-10

B | S0 | =20 =D | =p | =D

V- CL25-6 V - CL25-8 V - CL25-10 V - CL25-12 V- CL35-6 V-CL35-8

=D |(Ep | =D | =0 =p | =D

V - CL35-10 V - CL50-8 V - CL50-10 V - CL50-12 V - CL70-8 V - CL70-10

94



REPLACEMENT PACKS

i V - 1070 - FUSE KIT - STANDARD AND MINI BLADE

-

ITEM CODE SIZE & DESCRIPTION QryY BULK QTY
V - B3800 FUSE BLADE 3 AMP / PURPLE 20 100
V - B3802 FUSE BLADE 5 AMP / ORANGE 20 100
V - B3803 FUSE BLADE 7.5 AMP / BROWN 20 100
V - B3804 FUSE BLADE 10 AMP / RED 20 100
V - B3805 FUSE BLADE 15 AMP / BLUE 20 100
V - B3806 FUSE BLADE 20 AMP / YELLOW 20 100
V - B3807 FUSE BLADE 25 AMP / CLEAR 20 100
V - B3808 FUSE BLADE 30 AMP / GREEN 20 100
V - B3809 MINI FUSE BLADE 3 AMP / PURPLE 20 100
V - B38ll MINI FUSE BLADE 5 AMP / ORANGE 20 100
V - B3812 MINI FUSE BLADE 7.5 AMP / BROWN 20 100
V - B3813 MINI FUSE BLADE 10 AMP / RED 20 100
V - B3814 MINI FUSE BLADE 15 AMP / BLUE 20 100
V - B3815 MINI FUSE BLADE 20 AMP / YELLOW 20 100
V - B3816 MINI FUSE BLADE 25 AMP / WHITE 20 100
V - B3817 MINI FUSE BLADE 30 AMP / GREEN 20 100

RN

ch ==

V- BE%SOO V-B3802 |V-B3803 |V-B3804 |V-B3805 V- B3&

e

V-B382 |V-BII3

&)

1: o
.

V-B3807 |[V-B3808 |V -B3809

‘I-‘ -, a
W b= I ;
T " '

V-B381Z | v-p38l5 |V -B38I6

95



REPLACEMENT PACKS

V - 1071 SHIM WASHER KIT

SIZE & DESCRIPTION QrY
SHIM WASHER 3/4 X 1.1/16 12
SHIM WASHER 7/8 X 1.5/8 18
SHIM WASHER 1.3/8 X 1.3/4 6
SHIM WASHER 15/16 X 1.5/8 12
SHIM WASHER 1.1/8 X 1.5/8 12
SHIM WASHER 3/4 X 1.3/8 12
SHIM WASHER 1X 2 6
SHIM WASHER 7/8 X 1.7/16 12
SHIM WASHER 5/8 X 1.1/8 18
SHIM WASHER 3/4 X 1.7/16 24
SHIM WASHER 27/32 X 15/16 24
SHIM WASHER 25/32 X 1.5/16 12
SHIM WASHER 7/8 X 1.9/16 18
SHIM WASHER 25/32 X 1.1/4 6
SHIM WASHER 3/4 X 1.5/8 6
SHIM WASHER 11/16 X 1.1/8 24
SHIM WASHER 13/16 X 1.7/16 12
SHIM WASHER 1.1/8 X 1.13/16 18
SHIM WASHER 15/16 X 1/3/4 6
SHIM WASHER 29/32 X 1.1/2 6
SHIM WASHER 1.1/32 X 1.5/8 6
SHIM WASHER 1.9/64 X 1.27/32 6

AVAILABLE IN KIT ONLY

96



I
|
V - 1073 HEAT SHRINK TUBE KIT

REPLACEMENT PACKS

POLYOLEFIN |

SIZE & DESCRIPTION

HEAT SHRINK TUBE BLACK 3.5
HEAT SHRINK TUBE BLACK 4.5MM
HEAT SHRINK TUBE BLACK 6MM
HEAT SHRINK TUBE BLACK 10MM
HEAT SHRINK TUBE BLACK 13MM
HEAT SHRINK TUBE BLACK 20MM
HEAT SHRINK TUBE RED 3.5MM
HEAT SHRINK TUBE RED 4.5MM
HEAT SHRINK TUBE RED 6MM
HEAT SHRINK TUBE RED 10MM
HEAT SHRINK TUBE RED 13MM
HEAT SHRINK TUBE RED 20MM

AVAILABLE IN KIT ONLY

97




REPLACEMENT PACKS

L% -l & & N ]

V - 1074 WAVE WASHER

M
Fl
SIZE & DESCRIPTION
STAINLESS STEEL M3 X 8 30
STAINLESS STEEL M4 X 9 30
STAINLESS STEEL M5 X 11 30
STAINLESS STEEL M6 X 12 25
STAINLESS STEEL M8 X 15 25
STAINLESS STEEL MIO X 21 25
STAINLESS STEEL MI2 X 24 20
STAINLESS STEEL M4 X 28 15
STAINLESS STEEL M6 X 30 15
STAINLESS STEEL MI8 X 34 10
STAINLESS STEEL M20 X 36 10
STAINLESS STEEL M22 X 40 10
STAINLESS STEEL M24 X 44 10

AVAILABLE IN KIT ONLY

98



REPLACEMENT PACKS

ITEM CODE

V - N16700008
V - N16702493
V - N16700010
V - N16700011
V - N16700013
V - N16700014
V - N16700015
V - N16700016
V - N16702495
V - N16700017
V - N16700018
V - N16700020
V - N16700110
V - N16702498
V - N16700024
V - N16700026
V - N16700029
V - N16700033

SIZE & DESCRIPTION

STEPLESS EAR CLAMP MIO0.1 - MI1.8
STEPLESS EAR CLAMP MI0.3 - M12.8
STEPLESS EAR CLAMP MI0.8 - M13.3
STEPLESS EAR CLAMP MI1.3 - M13.8
STEPLESS EAR CLAMP MI12 - M14.5
STEPLESS EAR CLAMP M12.3 - M14.8
STEPLESS EAR CLAMP M12.8 - M15.3
STEPLESS EAR CLAMP M13.2 - MI5.7
STEPLESS EAR CLAMP MI4.1 - M16.6
STEPLESS EAR CLAMP MI4.5 - MI17
STEPLESS EAR CLAMP M14.6 - M17.8
STEPLESS EAR CLAMP MI15.3 - M18.5
STEPLESS EAR CLAMP M16 - M19.2
STEPLESS EAR CLAMP M16.6 - M19.2
STEPLESS EAR CLAMP MI17.8 - M21
STEPLESS EAR CLAMP M19.4 - M22
STEPLESS EAR CLAMP M20.9 - M24.]
STEPLESS EAR CLAMP M24 - M27.1

QryY

STAINLESS STEEL |

L ]

—
L

BULK QTY

8
8
8
15
8
8
8
6
6
6
6
12
5
10
5
10
5
8

100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100

V - N16700008

V - N16702493

V - N16700010

V - N167000T1

V - N16700013

V - N16700014

V - N16700015

V - N16700016

V - N16702495

V - N16700017

V - N16700018

=

V - N16700020

V -N16700110

==

V - N16702498

-

V - N16700024

o

V - N16700026

-

V - N16700029

-

V - N16700033

99



REPLACEMENT PACKS

ITEM CODE

V - BRP701

V - BRP702
V - BRP703
V - BRP704
V - BRP705
V - BRP706
V - BRP1405
V - BRP1406
V - BRP1402
V - BRP1403
V - BRP1404
V - BRP601
V - BRP602
V - BRP603
V - BRP604
V - BRP605
V - BRP606
V - BRP607
V - BRP616

V - BRP301

V - BRP302
V - BRP302A
V - BRP31212
V - BRP303
V - BRP304
V - BRP305
V - BRP306
V - BRP307
V - BRP308
V - BRP309
V - BRP310
V - BRP311

V - BRP1407
V - BRP312

V - BRP314
V - BRP315

V - BRP316

V - BRP31208
V - BRP3501
V - BRP3502
V - BRP2601
V - BRP2602
V - BRP2603
V - BRP2604
V - BRP2401
V - BRP2403
V - BRP2404
V - BRP2405
V - BRP2406
V - BRP6401
V - BRP6402
V - BRP6403
V - BRP6404

BRASS HOSE JOINER 3/16 STRAIGHT

BRASS HOSE JOINER 1/4 STRAIGHT

BRASS HOSE JOINER 5/16 STRAIGHT

BRASS HOSE JOINER 3/8 STRAIGHT

BRASS HOSE JOINER 1/2 STRAIGHT

BRASS HOSE JOINER 5/8 STRAIGHT

BRASS HOSE JOINER 3/8 “T"

BRASS HOSE JOINER 1/2 “T"

BRASS HOSE JOINER 3/16 “T”

BRASS HOSE JOINER 1/4 “T”

BRASS HOSE JOINER 5/16 “T"

BRASS HOSE JOINER 3/16 X 1/8 BSP MALE “L”
BRASS HOSE JOINER 1/4 X 1/8 B BSP MALE “L"
BRASS HOSE JOINER 5/16 X 1/8 BSP MALE “L”
BRASS HOSE JOINER 3/8 X 1/8 BSP MALE “L”
BRASS HOSE JOINER 3/8 X 1/4 BSP MALE “L”
BRASS HOSE JOINER 5/16 X 1/4 BSP MALE “L”
BRASS HOSE JOINER 1/2 X 1/4 BSP MALE “L"
BRASS HOSE JOINER 5/8 X 1/2 MALE “L"
BRAA HOSE JOINER 3/16 X 1/8 BSP MALE TAIL
BRASS HOSE JOINER 1/4 X 1/8 BSP MALE TAIL
BRASS HOSE JOINER 1/4 X 1/4 BSP MALE TAIL
BRASS HOSE JOINER 3/4 X 3/4 BSP MALE TAIL
BRASS HOSE JOINER 5/16 X 1/8 BSP MALE TAIL
BRASS HOSE JOINER 3/8 X 1/8 BSP MAIL TAIL
BRASS HOSE JOINER 3/8 X 1/8 BSP MALE TAIL
BRASS HOSE JOINER 5/16 X 1/4 BSP MALE TAIL
BRASS HOSE JOINER 1/2 X 1/4 BSP MALE TAIL
BRASS HOSE JOINER 5/8 X 1/4 BSP MALE TAIL
BRASS HOSE JOINER 5/16 X 3/8 BSP MALE TAIL
BRASS HOSE JOINER 3/8 X 3/8 BSP MALE TAIL
BRASS HOSE JOINER 1/2 X 3/8 BSP MALE TAIL
BRASS HOSE JOINER 5/8 BSP MALE TAIL
BRASS HOSE JOINER 5/8 X 3/8 MALE TAIL
BRASS HOSE JOINER 3/8 X 1/2 MALE TAIL
BRASS HOSE JOINER 1/2 X 1/2 BSP MALE TAIL
BRASS HOSE JOINER 5/8 X 1/2 BSP MALE TAIL
BRASS HOSE JOINER 3/4 X 1/2 BSP MALE TAIL
BRASS HOSE JOINER 1/8 BSP FEMALE “T"
BRASS HOSE JOINER 1/4 BSP FEMALE “T"
BRASS HOSE JOINER 1/8 BSP HEX SOCKET
BRASS HOSE JOINER 1/4 BSP HEX SOCKET
BRASS HOSE JOINER 3/8 BSP HEX SOCKET
BRASS HOSE JOINER 1/2 BSP HEX SOCKET
BRASS HOSE JOINER 1/4 X 1/8 BSP REDUCER
BRASS HOSE JOINER 3/8 X 1/4 BSP REDUCER
BRASS HOSE JOINER 1/2 X 1/8 BSP REDUCER
BRASS HOSE JOINER 1/2 X 1/4 BSP REDUCER
BRASS HOSE JOINER 1/2 X 3/8 BSP REDUCER
BRASS HOSE JOINER 1/8 BSP PLUG

BRASS HOSE JOINER 1/4 BSP PLUG

BRASS HOSE JOINER 3/8 BSP PLUG

BRASS HOSE JOINER 1/2 BSP PLUG

(SR SN SN SN SN N N N SN VN VN SN ON SN & Bapianlen il ON O SN SN S Raull ON N SEanll O SR OR SR SN NN G} SN O ON SN ON VN SN SN SN SN )

100




REPLACEMENT PACKS

V - 1084 A VACCUM HOSE JOINER KIT PLASTIC ‘

ITEM CODE SIZE Qry
V - GS8 VACCUM HOSE JOINER 5
V -TS8 VACCUM HOSE JOINER 5
V -GS35 VACCUM HOSE JOINER 10
V - TS4 VACCUM HOSE JOINER 10
V - GS5 VACCUM HOSE JOINER 10
V-TS5 VACCUM HOSE JOINER 10
V - GS56 VACCUM HOSE JOINER 10
V - TS6 VACCUM HOSE JOINER 10
V - GSUNI VACCUM HOSE JOINER 3
V - TSUNI VACCUM HOSE JOINER 2
V-GS3 VACCUM HOSE JOINER 10
V-TS3 VACCUM HOSE JOINER 10

AVAILABLE IN KIT ONLY

101



REPLACEMENT PACKS

" =

V -2000 - GO CART KIT

[

5
. :'|1-|.1
i" 'y -,

adibll !

ITEM CODE SIZE QryY BULK QTY
V - CSKM616 COUNTERSUNK FLAT HEAD SCREW M6 X 16 30 100
V - CSKM620 COUNTERSUNK FLAT HEAD SCREW M6 X 20 25 100
V - CSKM825 COUNTERSUNK FLAT HEAD SCREW M8 X 25 15 100
V - CSKM830 COUNTERSUNK FLAT HEAD SCREW M8 X 30 15 100
V - CSKM835 COUNTERSUNK FLAT HEAD SCREW M8 X 35 15 100
V - CSKM845 COUNTERSUNK FLAT HEAD SCREW M8 X 45 15 100
V - CSKM855 COUNTERSUNK FLAT HEAD SCREW M6 X 55 15 100
V - SH3ZP SOCKET HD CAP SCREW M6 X 20 25 100
V - SH47ZP SOCKET HD CAP SCREW M6 X 30 20 100
V - SH57ZP SOCKET HD CAP SCREW M6 X 40 15 100
V - SH9ZP SOCKET HD CAP SCREW M8 X 20 18 100
V - SHCSM825 SOCKET HD CAP SCREW M8 X 25 15 100
V - SHI3ZP SOCKET HD CAP SCREW MI0 X 20 10 100
V - SHCSM835 SOCKET HD CAP SCREW M8 X 35 15 100
V - SHCSMI025 SOCKET HD CAP SCREW MIO X 25 15 100
V - SHCSMI030 SOCKET HD CAP SCREW MIO X 30 15 100
V - FHB820 FLANGE HEAD BOLT M8 X 20 15 100
V - FHB825 FLANGE HEAD BOLT M8 X 25 12 100

N
W%%‘!.r
) e
V - CSKM616 V - CSKM620 |V - CSKM825 V - CSKM830 V - CSKM845
. o e M i
V - CSKM855 | V - SH3ZP V - SH4ZP V - SH5ZP V - SH9ZP V - SHCSM825
; Mokbe.. | M i
V - SHI13ZP V - SHCSM835 |V - SHCSMI025 |V - SHCSMIO30 | V - FHB820 V - FHB825

102




“T—

V - 2001 - RED FIBRE WASHER KIT

-
-

ITEM CODE

V - CFWI161
V - CFW162
V - CFW163
V - CFW164
V - CFW165
V - CFW166
V - CFW167
V - CFW168
V - CFW169
V - CFW1610
V - CFWi6ll
V - CFWI1612

SIZE

RED FIBRE WASHER 5/32 X 5/16
RED FIBRE WASHER 3/16 X 3/8
RED FIBRE WASHER 7/32 X 7/16
RED FIBRE WASHER 1/4 X 7/16
RED FIBRE WASHER 5/16 X 1/2
RED FIBRE WASHER 3/8 X 5/8
RED FIBRE WASHER 7/16 X 11/16
RED FIBRE WASHER 1/2 X 3/4
RED FIBRE WASHER 9/16 X 13/16
RED FIBRE WASHER 5/8 X 7/8
RED FIBRE WASHER 11/16 X 15/16
RED FIBRE WASHER 3/4 X 1

100
100
50
50
50
50
50
25
25
25
25
20

REPLACEMENT PACKS

BULK QTY

200
200
100
100
100
100
100
100
100
100
100
100

O

O

O

O

O

O

V - CFWI161 V - CFW162 V - CFW163 V - CFW164 V - CFW165 V - CFW166
V - CFW167 V - CFW168 V - CFW169 V - CFWI1610 V - CFW16I11 V - CFW1612

103




REPLACEMENT PACKS

ITEM CODE

V - DP0O2
V - DPO3
V - DP10
V -DP13
V - DP15
V - DP45
V - DP68
V - DP88
V - DP13
V - PDP15
V - PDP25
V - PDP35
V - PDP45
V - PDP55

SIZE

METRIC DRAIN / SUMP PLUG 14 X 1.5MM
METRIC DRAIN / SUMP PLUG 12MM X 1.75
METRIC DRAIN / SUMP PLUG 18 X 15

METRIC DRAIN / SUMP PLUG 25MM X 15
METRIC DRAIN / SUMP PLUG 4 X 1.5

METRIC DRAIN / SUMP PLUG 14MM X 15
METRIC DRAIN / SUMP PLUG 12MM X 1.75
METRIC DRAIN / SUMP PLUG 24MM X 15
METRIC DRAIN / SUMP PLUG 25MM X 15
PLASTIC DRAIN / SUMP PLUG AUDIVW.SEAT.SKODA
PLASTIC DRAIN / SUMP PLUG FORD

PLASTIC DRAIN / SUMP PLUG BMW

PLASTIC DRAIN / SUMP PLUG CITROEN, FORD, PEUGOT
PLASTIC DRAIN / SUMP PLUG MERCEDES BENZ

QryY

5
5
5
5
5
5
5
5
5
5
5
5
5
5

BULK QTY

20
20
20
20
20
20
20
20
20
20
20
20
20
20

104

V - DP0O2

RN

V - DPO3

V - DP88

V - PDP15

V - PDP35

V - PDP45

V - PDP55




REPLACEMENT PACKS

i ’ .
V - 2003 - TOYOTA FLARE MOULD KIT NYLON/PLASTIC
8 " A .
ITEM CODE SIZE BULK QTY
V-1074 TOYOTA WHEEL FLARE MUD GUARD 15 100
V - A4Ls TOYOTA MOULD RETAINER WHITE NYLON 15 100
V- AT8]7 TOYOTA GUARD MOULD TRIM CLIP BLUE NYLON 20 100
V- AT88 TOYOTA MOULDING RETAINER YELLOW NYLON 20 100
V- AT91 TOYOTA MOULD CLIP GREY NYLON 20 100
V- A194 TOYOTA MOULD CLIP BLUE NYLON 20 100
V- A197 TOYOTA MOULD CLIP BLACK NYLON 20 100
V- A745 TOYOTA FLARE MOULDING RETAINER CLIP 20 100
V- Al24] TOYOTA MOULDING RETAINER CLIP 20 100
V- AT44 TOYOTA MOULDING CLIP ANGLED WHEEL FLARE 20 100
V- A330 TOYOTA FARE MOULD 20 100
V - A331 TOYOTA ROCKER MOULD CLIP 20 100
V- A662 TOYOTA BODY SIDE MOULD CLIP GREY NYLON 20 100
V - 458 TOYOTA WHEEL FLARE MOULD CLIP RED NYLON 20 100
V - A501 TOYOTA ROCKER PANEL MOULD CLIP 20 100
V- A272 TOYOTA RETAINER CLIP NATURAL NYLON 20 100
V - A4S0 TOYOTA FLARE MOULD CLIP YELLOW NYLON 20 100
V - A457 TOYOTA FLARE MOULDING RETAINER BLUE NYLON 20 100

-I-'.i.

V - 458 V - A501 V- A;72 J V - A460

105



REPLACEMENT PACKS

ITEM CODE SIZE QryY BULK QTY
V - HBM616 HEX BOLT M6 X 16 25 100
V - HBM620G87P HEX BOLT M6 X 20 25 100
V - HBM625 HEX BOLT M6 X 25 25 100
V - HBM630 HEX BOLT M6 X 30 25 100
V - HBM640 HEX BOLT M6 X 40 25 100
V - PAN18 HEX NUT M6 150 500
V - HBMS816 HEX BOLT M8 X 16 10 100
V - HBM820G87ZP HEX BOLT M8 X 20 10 100
V - HBM825G87P HEX BOLT M8 X 25 10 100
V - HBM830G8ZP HEX BOLT M8 X 30 10 100
V - HBM840G8ZP HEX BOLT M8 X 40 25 100
V -T707A HEX NUT M8 50 200
V - HBM850G87ZP HEX BOLT M8 X 50 20 100
V - HBMCI1020 HEX BOLT MI0 X 20 10 100
V - HBMCI1035ZP HEX BOLT MIO X 35 10 100
V - HBMCI1040 HEX BOLT MIO X 40 17 100
V - HBMCI050G8ZP  HEX BOLT MI0 X 50 10 100
V - HNMCIO015 HEX NUT MI0 30 100
N
W%%‘!.r
.} ¥
V- CSKM6I6 |V - cskmeno [V - CSKM825 |V - CSKMB830 V - CSKM845
P, | Ty, % e | T—
'y 3 rs M -
V - CSKM855 V - SH3ZP V - SH47ZP V - SH5ZP V - SH9ZP V - SHCSM825
; | T Ml g
D | Gy | i, | 0555 oy
V - SH13ZP V - SHCSM835 |V - SHCSMI025 |V - SHCSMI030 | V - FHB820 V - FHB825

106




REPLACEMENT PACKS

W S A

STAINLESS STEEL

ITEM CODE SIZE QryY BULK QTY
V - SSBTNM5I0 SS BUTTON HEAD SOCKET CAP SCREW M5 X 10 5 100
V - SSBTNM516 SS BUTTON HEAD SOCKET CAP SCREW M5 X 16 5 100
V - SSBTNM520 SS BUTTON HEAD SOCKET CAP SCREW M5 X 20 o, 100
V - SSBTNM525 SS BUTTON HEAD SOCKET CAP SCREW M5 X 25 10 100
V - SSBTNM540 SS BUTTON HEAD SOCKET CAP SCREW M5 X 40 6 100
V - SSBTNM550 SS BUTTON HEAD SOCKET CAP SCREW M5 X 50 5 100
V - SSBTN7NF SS BUTTON HEAD SOCKET CAP SCREW 5/16 X 1 UNF 10 100
V - SSBTNI SS BUTTON HEAD SOCKET CAP SCREW 1/4 X 3/4 UNC 20 100
V - SSBTN2 SS BUTTON HEAD SOCKET CAP SCREW 1/4 X 1UNC 20 100
V - SSBTN4 SS BUTTON HEAD SOCKET CAP SCREW 1/4 X 11/2UNC 10 100
V - SSBTN5 SS BUTTON HEAD SOCKET CAP SCREW 1/4 X 2 UNF 10 100
V - SSBTN7 SS BUTTON HEAD SOCKET CAP SCREW 5/16 X 1 UNC 10 100
V - SSBTN9 SS BUTTON HEAD SOCKET CAP SCREW 5/16 X 11/2unc 10 100
V - SSBTNIO SS BUTTON HEAD SOCKET CAP SCREW 5/16 X 2 UNC 5 100
V - SSBINII SS BUTTON HEAD SOCKET CAP SCREW 3/8 X 3/4UNC 10 100
V - SSBINI2 SS BUTTON HEAD SOCKET CAP SCREW 3/8 X 1UNC 10 100
V - SSBIN14 SS BUTTON HEAD SOCKET CAP SCREW 3/8 X11/2uUNCc 5 100
V - SSBINIS SS BUTTON HEAD SOCKET CAP SCREW 3/8 X 2 UNC 5 100

—

V - SSBTNMS5I0 |V - SSBTNMS516 V - SSBTNM520 |V - SSBTNM525 |V - SSBTNM4O V- SSBTNM550

NSNS

V - SSBTNI V - SSBTN2 V - SSBTN4 V - SSBTN5 V - SSBTN7 V - SSBTN9

N SN NSNS

V - SSBTNIO V - SSBTNII V - SSBTNI2 V - SSBTN14 V - SSBTNI5 V - SSBTN7NF

7

107



REPLACEMENT PACKS

V - 2006 - HEX HEAD/ SET SCREW BOLT NUT KIT

TR 2P

7 SR

ITEM CODE SIZE Qry BULK QTY
V - HSSNC384G8ZP HEX HEAD SET SCREW UNC 3/8 - 16T X 4 10 100
V - 518 HEX NUT 3/8 UNC 10 100
V - HSSNC5164 HEX HEAD SET SCREW UNC 3/8 - 16T X 4 10 100
V -512 HEX NUT 5/16 UNC 10 100
V - HSSM6100 HEX HEAD SET SCREW UNC 3/8 - 16T X 4 10 100
V - PANI8 HEX NUT Mé 10 100
V - HSSM8100G8ZP HEX HEAD SET SCREW UNC 3/8 - 16T X 4 10 100
V -T07A HEX NUT M8 X 1.25 10 100
V - HSSMF10100G8ZP HEX HEAD SET SCREW UNC 3/8 - 16T X 4 10 100
V-T713 HEX NUT MI0 X 1.25 10 100
V - HSSMFI12125100G8ZP MI2 X 1.25HEX HEAD SET SCREW UNC 3/8 - 16T X 10 100
V - HNMF12125 HEX NUT MI12 X 1.25 10 100
B 4 e e %4 &

V -HSSNC384G8ZP

V -HSSNC5164
V -HSSM6100
V -HSSM8100G8ZP

V -HSSMF10100G8ZP

V -HSSMF12125100G8ZP

108




REPLACEMENT PACKS

109



(e
—/

www.autosmartaustralia.com.au



